

Purchasing Divison 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Request for Quotation 06 — Building Supply

	Proc Folder: 274311		
Doc Description: Paint and Paint Supplies			
	Proc Type: Central Maste	r Agreement	
Date Issued	Solicitation Closes	Solicitation No	Version
2016-11-17	2016-12-14 13:30:00	CRFQ 0212 SWC1700000007	1

BID RECEIVING COCATION.

**BID CLERK** 

**DEPARTMENT OF ADMINISTRATION** 

PURCHASING DIVISION 2019 WASHINGTON ST E

CHARLESTON

WV

25305

US

VENDOR
Vendor Name, Address and Telephone Number:

PPG Architectural Finishes, Inc.

528 Fairmont Avenue

Fairmont, WV 26554

304-962-7318

**BID RECEIVED LATE** 

BUYER

WITNESS

DISQUALIFIED

12/14/16 14:30:04 W Furchesine Division

FOR INFORMATION CONTACT THE BUYER

Michelle L Childers (304) 558-2063

Signatuce

michelle.l.childers@wv.gov

SIGN HERE

EEIN #

25-1612585

DATE 12/9/16

All offers subject to all terms and conditions contained in this solicitation

Page 🔡

FORM ID: WV-PRC-CRFQ-001

#### ADDITIONAL INFORMATION

The West Virginia Purchasing Division is soliciting bids for an open-end statewide contract for interior/exterior latex paint, oil base paints and stains, polyurethane, varnish and related painting supplies and tools. This contract shall cover all West Virginia state agencies and political sub-divisions.

INVOICE TO	And the second s	SHIP TO A 22	Control of the Contro
ALL STATE AGENCIE VARIOUS LOCATIONS	S S AS INDICATED BY ORDER	STATE OF WEST V	IRGINIA ONS AS INDICATED BY ORDER
No City	WV99999	No City	WV 99999
ບຣ		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	Paints and Primers and Finishes	0.00000	EA		

Comm Code	Manufacturer	Specification	Model #	
31210000		<del></del>		

#### **Extended Description:**

Paints and Primers and Finishes - Refer to attached Exhibit A Pricing Page

ST VIRGINIA ATIONS AS INDICATED BY ORDER
WV 99999

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	Paint Applicators and Painting Accessories	0.00000	EA		

Comm Code	Manufacturer	Specification	Model #
31211900			

### **Extended Description:**

Paint Applicators and Painting Accessories - Refer to Exhibit A Pricing Page

	Document Phase	Document Description	Page 3
SWC1700000007	Draft	Paint and Paint Supplies	

### ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

#### **INSTRUCTIONS TO VENDORS SUBMITTING BIDS**

- 1. REVIEW DOCUMENTS THOROUGHLY: The attached documents contain a solicitation for bids. Please read these instructions and all documents attached in their entirety. These instructions provide critical information about requirements that if overlooked could lead to disqualification of a Vendor's bid. All bids must be submitted in accordance with the provisions contained in these instructions and the Solicitation. Failure to do so may result in disqualification of Vendor's bid.
- 2. MANDATORY TERMS: The Solicitation may contain mandatory provisions identified by the use of the words "must," "will," and "shall." Failure to comply with a mandatory term in the Solicitation will result in bid disqualification.

3. PREBID MEETING: The item identified below shall apply to this Solicitation.
A pre-bid meeting will not be held prior to bid opening
☐ A NON-MANDATORY PRE-BID meeting will be held at the following place and time:
A MANDATORY PRE-BID meeting will be held at the following place and time:

All Vendors submitting a bid must attend the mandatory pre-bid meeting. Failure to attend the mandatory pre-bid meeting shall result in disqualification of the Vendor's bid. No one person attending the pre-bid meeting may represent more than one Vendor.

An attendance sheet provided at the pre-bid meeting shall serve as the official document verifying attendance. The State will not accept any other form of proof or documentation to verify attendance. Any person attending the pre-bid meeting on behalf of a Vendor must list on the attendance sheet his or her name and the name of the Vendor he or she is representing.

Additionally, the person attending the pre-bid meeting should include the Vendor's E-Mail address, phone number, and Fax number on the attendance sheet. It is the Vendor's responsibility to locate the attendance sheet and provide the required information. Failure to complete the attendance sheet as required may result in disqualification of Vendor's bid.

All Vendors should arrive prior to the starting time for the pre-bid. Vendors who arrive after the starting time but prior to the end of the pre-bid will be permitted to sign in, but are charged with knowing all matters discussed at the pre-bid.

Questions submitted at least five business days prior to a scheduled pre-bid will be discussed at the pre-bid meeting if possible. Any discussions or answers to questions at the pre-bid meeting are preliminary in nature and are non-binding. Official and binding answers to questions will be published in a written addendum to the Solicitation prior to bid opening.

4. VENDOR QUESTION DEADLINE: Vendors may submit questions relating to this Solicitation to the Purchasing Division. Questions must be submitted in writing. All questions must be submitted on or before the date listed below and to the address listed below in order to be considered. A written response will be published in a Solicitation addendum if a response is possible and appropriate. Non-written discussions, conversations, or questions and answers regarding this Solicitation are preliminary in nature and are nonbinding.

Submitted e-mails should have solicitation number in the subject line.

Question Submission Deadline:

November 29, 2016 at 9:00 AM EST

Submit Questions to:

Michelle.L.Childers@wv.gov

2019 Washington Street, East Charleston, WV 25305

Fax: (304) 558-4115 (Vendors should not use this fax number for bid submission)

Email:

Michelle.L.Childers@wv.gov

- 5. VERBAL COMMUNICATION: Any verbal communication between the Vendor and any State personnel is not binding, including verbal communication at the mandatory pre-bid conference. Only information issued in writing and added to the Solicitation by an official written addendum by the Purchasing Division is binding.
- 6. BID SUBMISSION: All bids must be submitted electronically through wvOASIS or signed and delivered by the Vendor to the Purchasing Division at the address listed below on or before the date and time of the bid opening. Any bid received by the Purchasing Division staff is considered to be in the possession of the Purchasing Division and will not be returned for any reason. The Purchasing Division will not accept bids, modification of bids, or addendum acknowledgment forms via e-mail. Acceptable delivery methods include electronic submission via wvOASIS, hand delivery, delivery by courier, or facsimile.

The bid delivery address is:
Department of Administration, Purchasing Division
2019 Washington Street East
Charleston, WV 25305-0130

A bid that is not submitted electronically through wvOASIS should contain the information listed below on the face of the envelope or the bid may be rejected by the Purchasing Division.:

SEALED BID: BUYER: SOLICITATION NO.: BID OPENING DATE: BID OPENING TIME: FAX NUMBER:

The Purchasing Division may prohibit the submission of bids electronically through wvOASIS at its sole discretion. Such a prohibition will be contained and communicated in the wvOASIS system resulting in the Vendor's inability to submit bids through wvOASIS. Submission of a response to an Expression or Interest or Request for Proposal is not permitted in wvOASIS.

For Request For Proposal ("RFP") Responses Only: In the event that Vendor is responding to a request for proposal, the Vendor shall submit one original technical and one original cost proposal plus \_\_\_\_\_ N/A \_\_\_\_\_ convenience copies of each to the Purchasing Division at the address shown above. Additionally, the Vendor should identify the bid type as either a technical or cost proposal on the face of each bid envelope submitted in response to a request for proposal as follows:

BID TYPE: (This only applies to CRFP)

Technical
Cost

7. BID OPENING: Bids submitted in response to this Solicitation will be opened at the location identified below on the date and time listed below. Delivery of a bid after the bid opening date and time will result in bid disqualification. For purposes of this Solicitation, a bid is considered delivered when confirmation of delivery is provided by wvOASIS (in the case of electronic submission) or when the bid is time stamped by the official Purchasing Division time clock (in the case of hand delivery).

Bid Opening Date and Time:

December 14, 2016 at 1:30 PM EST

Bid Opening Location: Department of Administration, Purchasing Division 2019 Washington Street East Charleston, WV 25305-0130

- 8. ADDENDUM ACKNOWLEDGEMENT: Changes or revisions to this Solicitation will be made by an official written addendum issued by the Purchasing Division. Vendor should acknowledge receipt of all addenda issued with this Solicitation by completing an Addendum Acknowledgment Form, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.
- 9. BID FORMATTING: Vendor should type or electronically enter the information onto its bid to prevent errors in the evaluation. Failure to type or electronically enter the information may result in bid disqualification.
- 10. ALTERNATES: Any model, brand, or specification listed in this Solicitation establishes the acceptable level of quality only and is not intended to reflect a preference for, or in any way favor, a particular brand or vendor. Vendors may bid alternates to a listed model or brand provided that the alternate is at least equal to the model or brand and complies with the required specifications. The equality of any alternate being bid shall be determined by the State at its sole discretion. Any Vendor bidding an alternate model or brand should clearly identify the alternate items in its bid and should include manufacturer's specifications, industry literature, and/or any other relevant documentation demonstrating the equality of the alternate items. Failure to provide information for alternate items may be grounds for rejection of a Vendor's bid.
- 11. EXCEPTIONS AND CLARIFICATIONS: The Solicitation contains the specifications that shall form the basis of a contractual agreement. Vendor shall clearly mark any exceptions, clarifications, or other proposed modifications in its bid. Exceptions to, clarifications of, or modifications of a requirement or term and condition of the Solicitation may result in bid disqualification.
- 12. COMMUNICATION LIMITATIONS: In accordance with West Virginia Code of State Rules §148-1-6.6, communication with the State of West Virginia or any of its employees regarding this Solicitation during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited without prior Purchasing Division approval. Purchasing Division approval for such communication is implied for all agency delegated and exempt purchases.
- 13. REGISTRATION: Prior to Contract award, the apparent successful Vendor must be properly registered with the West Virginia Purchasing Division and must have paid the \$125 fee, if applicable.
- 14. UNIT PRICE: Unit prices shall prevail in cases of a discrepancy in the Vendor's bid.
- 15. PREFERENCE: Vendor Preference may only be granted upon written request and only in accordance with the West Virginia Code § 5A-3-37 and the West Virginia Code of State Rules. A Vendor Preference Certificate form has been attached hereto to allow Vendor to apply for the preference. Vendor's failure to submit the Vendor Preference Certificate form with its bid will result in denial of Vendor Preference. Vendor Preference does not apply to construction projects.

- 16. SMALL, WOMEN-OWNED, OR MINORITY-OWNED BUSINESSES: For any solicitations publicly advertised for bid, in accordance with West Virginia Code §5A-3-37(a)(7) and W. Va. CSR § 148-22-9, any non-resident vendor certified as a small, women-owned, or minority-owned business under W. Va. CSR § 148-22-9 shall be provided the same preference made available to any resident vendor. Any non-resident small, women-owned, or minority-owned business must identify itself as such in writing, must submit that writing to the Purchasing Division with its bid, and must be properly certified under W. Va. CSR § 148-22-9 prior to contract award to receive the preferences made available to resident vendors. Preference for a non-resident small, women-owned, or minority owned business shall be applied in accordance with W. Va. CSR § 148-22-9.
- 17. WAIVER OF MINOR IRREGULARITIES: The Director reserves the right to waive minor irregularities in bids or specifications in accordance with West Virginia Code of State Rules § 148-1-4.6.
- 18. ELECTRONIC FILE ACCESS RESTRICTIONS: Vendor must ensure that its submission in wvOASIS can be accessed by the Purchasing Division staff immediately upon bid opening. The Purchasing Division will consider any file that cannot be immediately opened and/or viewed at the time of the bid opening (such as, encrypted files, password protected files, or incompatible files) to be blank or incomplete as context requires, and are therefore unacceptable. A vendor will not be permitted to unencrypt files, remove password protections, or resubmit documents after bid opening if those documents are required with the bid.
- 19. NON-RESPONSIBLE: The Purchasing Division Director reserves the right to reject the bid of any vendor as Non-Responsible in accordance with W. Va. Code of State Rules § 148-1-5.3, when the Director determines that the vendor submitting the bid does not have the capability to fully perform, or lacks the integrity and reliability to assure good-faith performance."
- 20. ACCEPTANCE/REJECTION: The State may accept or reject any bid in whole, or in part in accordance with W. Va. Code of State Rules § 148-1-4.5. and § 148-1-6.4.b."
- 21. YOUR SUBMISSION IS A PUBLIC DOCUMENT: Vendor's entire response to the Solicitation and the resulting Contract are public documents. As public documents, they will be disclosed to the public following the bid/proposal opening or award of the contract, as required by the competitive bidding laws of West Virginia Code §§ 5A-3-1 et seq., 5-22-1 et seq., and 5G-1-1 et seq. and the Freedom of Information Act West Virginia Code §§ 29B-1-1 et seq.

DO NOT SUBMIT MATERIAL YOU CONSIDER TO BE CONFIDENTIAL, A TRADE SECRET, OR OTHERWISE NOT SUBJECT TO PUBLIC DISCLOSURE.

Submission of any bid, proposal, or other document to the Purchasing Division constitutes your explicit consent to the subsequent public disclosure of the bid, proposal, or document. The Purchasing Division will disclose any document labeled "confidential," "proprietary," "trade secret," "private," or labeled with any other claim against public disclosure of the documents, to include any "trade secrets" as defined by West Virginia Code § 47-22-1 et seq. All submissions are subject to public disclosure without notice.

#### **GENERAL TERMS AND CONDITIONS:**

- 1. CONTRACTUAL AGREEMENT: Issuance of a Award Document signed by the Purchasing Division Director, or his designee, and approved as to form by the Attorney General's office constitutes acceptance of this Contract made by and between the State of West Virginia and the Vendor. Vendor's signature on its bid signifies Vendor's agreement to be bound by and accept the terms and conditions contained in this Contract.
- 2. **DEFINITIONS:** As used in this Solicitation/Contract, the following terms shall have the meanings attributed to them below. Additional definitions may be found in the specifications included with this Solicitation/Contract.
- 2.1. "Agency" or "Agencies" means the agency, board, commission, or other entity of the State of West Virginia that is identified on the first page of the Solicitation or any other public entity seeking to procure goods or services under this Contract.
- 2.2. "Bid" or "Proposal" means the vendors submitted response to this solicitation.
- 2.3. "Contract" means the binding agreement that is entered into between the State and the Vendor to provide the goods or services requested in the Solicitation.
- 2.4. "Director" means the Director of the West Virginia Department of Administration, Purchasing Division.
- 2.5. "Purchasing Division" means the West Virginia Department of Administration, Purchasing Division.
- 2.6. "Award Document" means the document signed by the Agency and the Purchasing Division, and approved as to form by the Attorney General, that identifies the Vendor as the contract holder.
- 2.7. "Solicitation" means the official notice of an opportunity to supply the State with goods or services that is published by the Purchasing Division.
- 2.8. "State" means the State of West Virginia and/or any of its agencies, commissions, boards, etc. as context requires.
- 2.9. "Vendor" or "Vendors" means any entity submitting a bid in response to the Solicitation, the entity that has been selected as the lowest responsible bidder, or the entity that has been awarded the Contract as context requires.

3. CONTRACT TERM; RENEWAL; EXTENSION: The term of this Contract shall be determined in accordance with the category that has been identified as applicable to this Contract below:
☑ Term Contract
Initial Contract Term: This Contract becomes effective on  upon sward  and extends for a period of  one (1)  year(s).  Renewal Term: This Contract may be renewed upon the mutual written consent of the Agency, and the Vendor, with approval of the Purchasing Division and the Attorney General's office
(Attorney General approval is as to form only). Any request for renewal should be submitted to the Purchasing Division thirty (30) days prior to the expiration date of the initial contract term or appropriate renewal term. A Contract renewal shall be in accordance with the terms and conditions of the original contract. Renewal of this Contract is limited to three (3) successive one (1) year periods or multiple renewal periods of less than one year, provided that the multiple renewal periods do not exceed thirty-six (36) months in total. Automatic renewal of this Contract is prohibited. Notwithstanding the foregoing, Purchasing Division approval is not required on agency delegated or exempt purchases. Attorney General approval may be required for vendor terms and conditions.
Delivery Order Limitations: In the event that this contract permits delivery orders, a delivery order may only be issued during the time this Contract is in effect. Any delivery order issued within one year of the expiration of this Contract shall be effective for one year from the date the delivery order is issued. No delivery order may be extended beyond one year after this Contract has expired.
Fixed Period Contract: This Contract becomes effective upon Vendor's receipt of the notice to proceed and must be completed within days.
Fixed Period Contract with Renewals: This Contract becomes effective upon Vendor's receipt of the notice to proceed and part of the Contract more fully described in the attached specifications must be completed within days.
Upon completion, the vendor agrees that maintenance, monitoring, or warranty services will be provided for one year thereafter with an additional successive one year renewal periods or multiple renewal periods of less than one year provided that the multiple renewal periods do not exceed months in total. Automatic renewal of this Contract is prohibited.
One Time Purchase: The term of this Contract shall run from the issuance of the Award Document until all of the goods contracted for have been delivered, but in no event will this Contract extend for more than one fiscal year.
Other: See attached.

4. NOTICE TO PROCEED: Vendor shall begin performance of this Contract immediately upon receiving notice to proceed unless otherwise instructed by the Agency. Unless otherwise specified, the fully executed Award Document will be considered notice to proceed. 5. QUANTITIES: The quantities required under this Contract shall be determined in accordance with the category that has been identified as applicable to this Contract below. Open End Contract: Quantities listed in this Solicitation are approximations only, based on estimates supplied by the Agency. It is understood and agreed that the Contract shall cover the quantities actually ordered for delivery during the term of the Contract, whether more or less than the quantities shown. Service: The scope of the service to be provided will be more clearly defined in the specifications included herewith. Combined Service and Goods: The scope of the service and deliverable goods to be provided will be more clearly defined in the specifications included herewith. One Time Purchase: This Contract is for the purchase of a set quantity of goods that are identified in the specifications included herewith. Once those items have been delivered, no additional goods may be procured under this Contract without an appropriate change order approved by the Vendor, Agency, Purchasing Division, and Attorney General's office. EMERGENCY PURCHASES: The Purchasing Division Director may authorize the Agency to purchase goods or services in the open market that Vendor would otherwise provide under this Contract if those goods or services are for immediate or expedited delivery in an emergency. Emergencies shall include, but are not limited to, delays in transportation or an unanticipated increase in the volume of work. An emergency purchase in the open market, approved by the Purchasing Division Director, shall not constitute of breach of this Contract and shall not entitle the Vendor to any form of compensation or damages. This provision does not excuse the State from fulfilling its obligations under a One Time Purchase contract. 7. REQUIRED DOCUMENTS: All of the items checked below must be provided to the Purchasing Division by the Vendor as specified below. ☐ BID BOND (Construction Only): Pursuant to the requirements contained in W. Va. Code § 5-22-1(c), All Vendors submitting a bid on a construction project shall furnish a valid bid bond in the amount of five percent (5%) of the total amount of the bid protecting the State of West Virginia. The bid bond must be submitted with the bid. PERFORMANCE BOND: The apparent successful Vendor shall provide a performance bond in the amount of . The performance bond must be received by the Purchasing Division prior to Contract award. On construction contracts, the performance bond must be 100% of the Contract value.

LABOR/MATERIAL PAYMENT BOND: The apparent successful Vendor shall provide a labor/material payment bond in the amount of 100% of the Contract value. The labor/material payment bond must be delivered to the Purchasing Division prior to Contract award. In lieu of the Bid Bond, Performance Bond, and Labor/Material Payment Bond, the Vendor may provide certified checks, cashier's checks, or irrevocable letters of credit. Any certified check, cashier's check, or irrevocable letter of credit provided in lieu of a bond must be of the same amount and delivered on the same schedule as the bond it replaces. A letter of credit submitted in lieu of a performance and labor/material payment bond will only be allowed for projects under \$100,000. Personal or business checks are not acceptable.  MAINTENANCE BOND: The apparent successful Vendor shall provide a two (2) year maintenance bond covering the roofing system. The maintenance bond must be issued and
delivered to the Purchasing Division prior to Contract award.
☐ INSURANCE: The apparent successful Vendor shall furnish proof of the following insurance prior to Contract award and shall list the state as a certificate holder:
Commercial General Liability Insurance: In the amount of or more.
Builders Risk Insurance: In an amount equal to 100% of the amount of the Contract.

The apparent successful Vendor shall also furnish proof of any additional insurance requirements contained in the specifications prior to Contract award regardless of whether or not that insurance requirement is listed above.

LICENSE(S) / CERTIFICATIONS / PERMITS: In addition to anything required under the Section entitled Licensing, of the General Terms and Conditions, the apparent successful Vendor shall furnish proof of the following licenses, certifications, and/or permits prior to Contract award, in a form acceptable to the Purchasing Division.
The apparent successful Vendor shall also furnish proof of any additional licenses or certifications contained in the specifications prior to Contract award regardless of whether or not that requirement is listed above.
8. WORKERS' COMPENSATION INSURANCE: The apparent successful Vendor shall comply with laws relating to workers compensation, shall maintain workers' compensation insurance when required, and shall furnish proof of workers' compensation insurance upon request.
9. LITIGATION BOND: The Director reserves the right to require any Vendor that files a protest of an award to submit a litigation bond in the amount equal to one percent of the lowest bid submitted or \$5,000, whichever is greater. The entire amount of the bond shall be forfeited if the hearing officer determines that the protest was filed for frivolous or improper purpose, including but not limited to, the purpose of harassing, causing unnecessary delay, or needless expense for the Agency. All litigation bonds shall be made payable to the Purchasing Division. In lieu of a bond, the protester may submit a cashier's check or certified check payable to the Purchasing Division. Cashier's or certified checks will be deposited with and held by the State Treasurer's office. If it is determined that the protest has not been filed for frivolous or improper purpose, the bond or deposit shall be returned in its entirety.
10. LIQUIDATED DAMAGES: Vendor shall pay liquidated damages in the amount of
for This clause shall in no way be considered exclusive and shall not limit the State or Agency's
right to pursue any other available remedy.

- 11. ACCEPTANCE: Vendor's signature on its bid, or on the certification and signature page, constitutes an offer to the State that cannot be unilaterally withdrawn, signifies that the product or service proposed by vendor meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise indicated, and signifies acceptance of the terms and conditions contained in the Solicitation unless otherwise indicated.
- 12. PRICING: The pricing set forth herein is firm for the life of the Contract, unless specified elsewhere within this Solicitation/Contract by the State. A Vendor's inclusion of price adjustment provisions in its bid, without an express authorization from the State in the Solicitation to do so, may result in bid disqualification.
- 13. PAYMENT: Payment in advance is prohibited under this Contract. Payment may only be made after the delivery and acceptance of goods or services. The Vendor shall submit invoices, in arrears.
- 14. PURCHASING CARD ACCEPTANCE: The State of West Virginia currently utilizes a Purchasing Card program, administered under contract by a banking institution, to process payment for goods and services. The Vendor must accept the State of West Virginia's Purchasing Card for payment of all orders under this Contract unless the box below is checked.
- Vendor is not required to accept the State of West Virginia's Purchasing Card as payment for all goods and services.
- 15. TAXES: The Vendor shall pay any applicable sales, use, personal property or any other taxes arising out of this Contract and the transactions contemplated thereby. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 16. ADDITIONAL FEES: Vendor is not permitted to charge additional fees or assess additional charges that were not either expressly provided for in the solicitation published by the State of West Virginia or included in the unit price or lump sum bid amount that Vendor is required by the solicitation to provide. Including such fees or charges as notes to the solicitation may result in rejection of vendor's bid. Requesting such fees or charges be paid after the contract has been awarded may result in cancellation of the contract.
- 17. FUNDING: This Contract shall continue for the term stated herein, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise made available, this Contract becomes void and of no effect beginning on July 1 of the fiscal year for which funding has not been appropriated or otherwise made available.
- 18. CANCELLATION: The Purchasing Division Director reserves the right to cancel this Contract immediately upon written notice to the vendor if the materials or workmanship supplied do not conform to the specifications contained in the Contract. The Purchasing Division Director may also cancel any purchase or Contract upon 30 days written notice to the Vendor in accordance with West Virginia Code of State Rules § 148-1-6.1.e.

- 19. TIME: Time is of the essence with regard to all matters of time and performance in this Contract.
- 20. APPLICABLE LAW: This Contract is governed by and interpreted under West Virginia law without giving effect to its choice of law principles. Any information provided in specification manuals, or any other source, verbal or written, which contradicts or violates the West Virginia Constitution, West Virginia Code or West Virginia Code of State Rules is void and of no effect.
- 21. COMPLIANCE: Vendor shall comply with all applicable federal, state, and local laws, regulations and ordinances. By submitting a bid, Vendor acknowledges that it has reviewed, understands, and will comply with all applicable laws, regulations, and ordinances.
- 22. ARBITRATION: Any references made to arbitration contained in this Contract, Vendor's bid, or in any American Institute of Architects documents pertaining to this Contract are hereby deleted, void, and of no effect.
- 23. MODIFICATIONS: This writing is the parties' final expression of intent. Notwithstanding anything contained in this Contract to the contrary no modification of this Contract shall be binding without mutual written consent of the Agency, and the Vendor, with approval of the Purchasing Division and the Attorney General's office (Attorney General approval is as to form only). Any change to existing contracts that adds work or changes contract cost, and were not included in the original contract, must be approved by the Purchasing Division and the Attorney General's Office (as to form) prior to the implementation of the change or commencement of work affected by the change.
- 24. WAIVER: The failure of either party to insist upon a strict performance of any of the terms or provision of this Contract, or to exercise any option, right, or remedy herein contained, shall not be construed as a waiver or a relinquishment for the future of such term, provision, option, right, or remedy, but the same shall continue in full force and effect. Any waiver must be expressly stated in writing and signed by the waiving party.
- 25. SUBSEQUENT FORMS: The terms and conditions contained in this Contract shall supersede any and all subsequent terms and conditions which may appear on any form documents submitted by Vendor to the Agency or Purchasing Division such as price lists, order forms, invoices, sales agreements, or maintenance agreements, and includes internet websites or other electronic documents. Acceptance or use of Vendor's forms does not constitute acceptance of the terms and conditions contained thereon.
- 26. ASSIGNMENT: Neither this Contract nor any monies due, or to become due hereunder, may be assigned by the Vendor without the express written consent of the Agency, the Purchasing Division, the Attorney General's office (as to form only), and any other government agency or office that may be required to approve such assignments. Notwithstanding the foregoing, Purchasing Division approval may or may not be required on certain agency delegated or exempt purchases.

- 27. WARRANTY: The Vendor expressly warrants that the goods and/or services covered by this Contract will: (a) conform to the specifications, drawings, samples, or other description furnished or specified by the Agency; (b) be merchantable and fit for the purpose intended; and (c) be free from defect in material and workmanship.
- 28. STATE EMPLOYEES: State employees are not permitted to utilize this Contract for personal use and the Vendor is prohibited from permitting or facilitating the same.
- 29. BANKRUPTCY: In the event the Vendor files for bankruptcy protection, the State of West Virginia may deem this Contract null and void, and terminate this Contract without notice.
- 30. PRIVACY, SECURITY, AND CONFIDENTIALITY: The Vendor agrees that it will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the Agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the Agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in <a href="http://www.state.wv.us/admin/purchase/privacy/default.html">http://www.state.wv.us/admin/purchase/privacy/default.html</a>.
- 31. YOUR SUBMISSION IS A PUBLIC DOCUMENT: Vendor's entire response to the Solicitation and the resulting Contract are public documents. As public documents, they will be disclosed to the public following the bid/proposal opening or award of the contract, as required by the competitive bidding laws of West Virginia Code §§ 5A-3-1 et seq., 5-22-1 et seq., and 5G-1-1 et seq. and the Freedom of Information Act West Virginia Code §§ 29B-1-1 et seq.

DO NOT SUBMIT MATERIAL YOU CONSIDER TO BE CONFIDENTIAL, A TRADE SECRET, OR OTHERWISE NOT SUBJECT TO PUBLIC DISCLOSURE.

Submission of any bid, proposal, or other document to the Purchasing Division constitutes your explicit consent to the subsequent public disclosure of the bid, proposal, or document. The Purchasing Division will disclose any document labeled "confidential," "proprietary," "trade secret," "private," or labeled with any other claim against public disclosure of the documents, to include any "trade secrets" as defined by West Virginia Code § 47-22-1 et seq. All submissions are subject to public disclosure without notice.

32. LICENSING: In accordance with West Virginia Code of State Rules § 148-1-6.1.e, Vendor must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agency or political subdivision. Upon request, the Vendor must provide all necessary releases to obtain information to enable the Purchasing Division Director or the Agency to verify that the Vendor is licensed and in good standing with the above entities.

- 33. ANTITRUST: In submitting a bid to, signing a contract with, or accepting a Award Document from any agency of the State of West Virginia, the Vendor agrees to convey, sell, assign, or transfer to the State of West Virginia all rights, title, and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to Vendor.
- 34. VENDOR CERTIFICATIONS: By signing its bid or entering into this Contract, Vendor certifies (1) that its bid or offer was made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, person or entity submitting a bid or offer for the same material, supplies, equipment or services; (2) that its bid or offer is in all respects fair and without collusion or fraud; (3) that this Contract is accepted or entered into without any prior understanding, agreement, or connection to any other entity that could be considered a violation of law; and (4) that it has reviewed this Solicitation in its entirety; understands the requirements, terms and conditions, and other information contained herein.

Vendor's signature on its bid or offer also affirms that neither it nor its representatives have any interest, nor shall acquire any interest, direct or indirect, which would compromise the performance of its services hereunder. Any such interests shall be promptly presented in detail to the Agency. The individual signing this bid or offer on behalf of Vendor certifies that he or she is authorized by the Vendor to execute this bid or offer or any documents related thereto on Vendor's behalf; that he or she is authorized to bind the Vendor in a contractual relationship; and that, to the best of his or her knowledge, the Vendor has properly registered with any State agency that may require registration.

35. VENDOR RELATIONSHIP: The relationship of the Vendor to the State shall be that of an independent contractor and no principal-agent relationship or employer-employee relationship is contemplated or created by this Contract. The Vendor as an independent contractor is solely liable for the acts and omissions of its employees and agents. Vendor shall be responsible for selecting, supervising, and compensating any and all individuals employed pursuant to the terms of this Solicitation and resulting contract. Neither the Vendor, nor any employees or subcontractors of the Vendor, shall be deemed to be employees of the State for any purpose whatsoever. Vendor shall be exclusively responsible for payment of employees and contractors for all wages and salaries, taxes, withholding payments, penalties, fees, fringe benefits, professional liability insurance premiums, contributions to insurance and pension, or other deferred compensation plans, including but not limited to, Workers' Compensation and Social Security obligations, licensing fees, etc. and the filing of all necessary documents, forms, and returns pertinent to all of the foregoing.

Vendor shall hold harmless the State, and shall provide the State and Agency with a defense against any and all claims including, but not limited to, the foregoing payments, withholdings, contributions, taxes, Social Security taxes, and employer income tax returns.

- 36. INDEMNIFICATION: The Vendor agrees to indemnify, defend, and hold harmless the State and the Agency, their officers, and employees from and against: (1) Any claims or losses for services rendered by any subcontractor, person, or firm performing or supplying services, materials, or supplies in connection with the performance of the Contract; (2) Any claims or losses resulting to any person or entity injured or damaged by the Vendor, its officers, employees, or subcontractors by the publication, translation, reproduction, delivery, performance, use, or disposition of any data used under the Contract in a manner not authorized by the Contract, or by Federal or State statutes or regulations; and (3) Any failure of the Vendor, its officers, employees, or subcontractors to observe State and Federal laws including, but not limited to, labor and wage and hour laws.
- 37. PURCHASING AFFIDAVIT: In accordance with West Virginia Code § 5A-3-10a, all Vendors are required to sign, notarize, and submit the Purchasing Affidavit stating that neither the Vendor nor a related party owe a debt to the State in excess of \$1,000. The affidavit must be submitted prior to award, but should be submitted with the Vendor's bid. A copy of the Purchasing Affidavit is included herewith.
- 38. ADDITIONAL AGENCY AND LOCAL GOVERNMENT USE: This Contract may be utilized by other agencies, spending units, and political subdivisions of the State of West Virginia; county, municipal, and other local government bodies; and school districts ("Other Government Entities"). Any extension of this Contract to the aforementioned Other Government Entities must be on the same prices, terms, and conditions as those offered and agreed to in this Contract, provided that such extension is in compliance with the applicable laws, rules, and ordinances of the Other Government Entity. If the Vendor does not wish to extend the prices, terms, and conditions of its bid and subsequent contract to the Other Government Entities, the Vendor must clearly indicate such refusal in its bid. A refusal to extend this Contract to the Other Government Entities shall not impact or influence the award of this Contract in any manner.
- 39. CONFLICT OF INTEREST: Vendor, its officers or members or employees, shall not presently have or acquire an interest, direct or indirect, which would conflict with or compromise the performance of its obligations hereunder. Vendor shall periodically inquire of its officers, members and employees to ensure that a conflict of interest does not arise. Any conflict of interest discovered shall be promptly presented in detail to the Agency.
- 40. REPORTS: Vendor shall provide the Agency and/or the Purchasing Division with the following reports identified by a checked box below:
- Such reports as the Agency and/or the Purchasing Division may request. Requested reports may include, but are not limited to, quantities purchased, agencies utilizing the contract, total contract expenditures by agency, etc.
- Quarterly reports detailing the total quantity of purchases in units and dollars, along with a listing of purchases by agency. Quarterly reports should be delivered to the Purchasing Division via email at purchasing requisitions@wy.gov.

41. BACKGROUND CHECK: In accordance with W. Va. Code § 15-2D-3, the Director of the Division of Protective Services shall require any service provider whose employees are regularly employed on the grounds or in the buildings of the Capitol complex or who have access to sensitive or critical information to submit to a fingerprint-based state and federal background inquiry through the state repository. The service provider is responsible for any costs associated with the fingerprint-based state and federal background inquiry.

After the contract for such services has been approved, but before any such employees are permitted to be on the grounds or in the buildings of the Capitol complex or have access to sensitive or critical information, the service provider shall submit a list of all persons who will be physically present and working at the Capitol complex to the Director of the Division of Protective Services for purposes of verifying compliance with this provision. The State reserves the right to prohibit a service provider's employees from accessing sensitive or critical information or to be present at the Capitol complex based upon results addressed from a criminal background check.

Service providers should contact the West Virginia Division of Protective Services by phone at (304) 558-9911 for more information.

- 42. PREFERENCE FOR USE OF DOMESTIC STEEL PRODUCTS: Except when authorized by the Director of the Purchasing Division pursuant to W. Va. Code § 5A-3-56, no contractor may use or supply steel products for a State Contract Project other than those steel products made in the United States. A contractor who uses steel products in violation of this section may be subject to civil penalties pursuant to W. Va. Code § 5A-3-56. As used in this section:
- a. "State Contract Project" means any erection or construction of, or any addition to, alteration of or other improvement to any building or structure, including, but not limited to, roads or highways, or the installation of any heating or cooling or ventilating plants or other equipment, or the supply of and materials for such projects, pursuant to a contract with the State of West Virginia for which bids were solicited on or after June 6, 2001.
- b. "Steel Products" means products rolled, formed, shaped, drawn, extruded, forged, cast, fabricated or otherwise similarly processed, or processed by a combination of two or more or such operations, from steel made by the open heath, basic oxygen, electric furnace, Bessemer or other steel making process. The Purchasing Division Director may, in writing, authorize the use of foreign steel products if:
- c. The cost for each contract item used does not exceed one tenth of one percent (.1%) of the total contract cost or two thousand five hundred dollars (\$2,500.00), whichever is greater. For the purposes of this section, the cost is the value of the steel product as delivered to the project; or d. The Director of the Purchasing Division determines that specified steel materials are not produced in the United States in sufficient quantity or otherwise are not reasonably available to meet contract requirements.

43. PREFERENCE FOR USE OF DOMESTIC ALUMINUM, GLASS, AND STEEL: In Accordance with W. Va. Code § 5-19-1 et seq., and W. Va. CSR § 148-10-1 et seq., for every contract or subcontract, subject to the limitations contained herein, for the construction, reconstruction, alteration, repair, improvement or maintenance of public works or for the purchase of any item of machinery or equipment to be used at sites of public works, only domestic aluminum, glass or steel products shall be supplied unless the spending officer determines, in writing, after the receipt of offers or bids, (1) that the cost of domestic aluminum, glass or steel products is unreasonable or inconsistent with the public interest of the State of West Virginia, (2) that domestic aluminum, glass or steel products are not produced in sufficient quantities to meet the contract requirements, or (3) the available domestic aluminum, glass, or steel do not meet the contract specifications. This provision only applies to public works contracts awarded in an amount more than fifty thousand dollars (\$50,000) or public works contracts that require more than ten thousand pounds of steel products.

The cost of domestic aluminum, glass, or steel products may be unreasonable if the cost is more than twenty percent (20%) of the bid or offered price for foreign made aluminum, glass, or steel products. If the domestic aluminum, glass or steel products to be supplied or produced in a "substantial labor surplus area", as defined by the United States Department of Labor, the cost of domestic aluminum, glass, or steel products may be unreasonable if the cost is more than thirty percent (30%) of the bid or offered price for foreign made aluminum, glass, or steel products. This preference shall be applied to an item of machinery or equipment, as indicated above, when the item is a single unit of equipment or machinery manufactured primarily of aluminum, glass or steel, is part of a public works contract and has the sole purpose or of being a permanent part of a single public works project. This provision does not apply to equipment or machinery purchased by a spending unit for use by that spending unit and not as part of a single public works project.

All bids and offers including domestic aluminum, glass or steel products that exceed bid or offer prices including foreign aluminum, glass or steel products after application of the preferences provided in this provision may be reduced to a price equal to or lower than the lowest bid or offer price for foreign aluminum, glass or steel products plus the applicable preference. If the reduced bid or offer prices are made in writing and supersede the prior bid or offer prices, all bids or offers, including the reduced bid or offer prices, will be reevaluated in accordance with this rule.

#### **SPECIFICATIONS**

1. PURPOSE AND SCOPE: The West Virginia Purchasing Division is soliciting bids for an open-end statewide contract for interior/exterior latex paint, oil base paints and stains, polyurethane, varnish and related painting supplies and tools. This contract shall cover all West Virginia state agencies and political sub-divisions.

This was previously advertised as PAINT13 (3/13/2013). Bid results may be viewed at: <a href="http://www.state.wv.us/admin/purchase/Bids/default.html">http://www.state.wv.us/admin/purchase/Bids/default.html</a>

CMA PAINT13 will expire 3/31/2017. It is anticipated that the new contract will become effective on: 4/1/17.

- 2. **DEFINITIONS:** The terms listed below shall have the meanings assigned to them below. Additional definitions can be found in section 2 of the General Terms and Conditions.
  - 2.1 "Contract Item" or "Contract Items" means the list of items identified in Section 3.1 below and on the Pricing Pages.
  - 2.2 "Pricing Pages" means the schedule of prices, estimated order quantity, and totals contained in wvOASIS or attached hereto as Exhibit A, and used to evaluate the Solicitation responses.
  - 2.3 "Solicitation" means the official notice of an opportunity to supply the State with goods or services that is published by the Purchasing Division.

#### 3. GENERAL REQUIREMENTS:

3.1 Contract Items and Mandatory Requirements: Vendor shall provide Agency with the Contract Items listed on the Pricing Pages on an open-end and continuing basis. Contract Items must meet or exceed the mandatory requirements as shown below.

#### 3.2 Mandatory Paint Requirements:

- 3.2.1 Volume solids for Contract Items bid by Vendor must be within 2 percent of volume solids listed on the Pricing Pages.
- 3.2.2 Each product bid shall meet the required dry film thickness (DFT) per coat of two mills.

- 3.2.3 Interior and Exterior Paint: Interior and Exterior latex paint shall have a durable useful life of more than 10 years when applied in accordance with the manufacturer's instructions.
- 3.2.4 Storage Stability/Warranty: The shelf life of paint shall be at least one year. Some "soft setting" will be allowed but the materials shall be easily re-dispersed with a hard paddle. The State reserves the right, at any time within one year of acceptance, to check any paint delivered for conformance to the requirements of the Contract. Any paint failing to comply with the specifications will be returned to the contractor for replacement at no cost to the State. Any and all expenses associated with returns including re-inspection and re-testing shall be the responsibility of the vendor.
- 3.2.5 Condition in Container: The paint, as received, shall be ready to use and shall show no evidence of biological growth, debris, foreign material, skinning, hard settled pigment or corrosion of the container. The paint shall be easily dispersible to a uniform condition by hand stirring.
- 3.2.6 Product Certification: The offered products shall meet the applicable Master Painters Institute (MPI) detailed performance standard for the appropriate MPI category.

  (http://paintinfo.com/mpi/approved/Partner\_index.shtml)
- 3.2.7 Application: The paint shall be suitable for application by brush, roller and airless sprayers (without filtering). The paint shall have good flowing and brushing properties and shall dry to a smooth uniform film free from lap marks, excessive brush marks, orange peel, craters, coarse particles, blisters, fish eyes, pitting or pinholes after drying.
- 3.2.8 Odor: There should not be a strong odor of solvent. The paint shall have no residual odor after 48 hours of air drying.
- 3.2.9 Coverage: Pastel colors must have one-coat application capability. Midtone and deep-tone colors must have a maximum capability of two coat coverage.
- **3.2.10 Labeling:** Batch number and formulation must be shown on label and/or container.
- 3.2.11 Paint Quality: Paint quality is designated as "G" for Good, "B" for Better, or "BST" for Best on the Pricing Pages. Paint bid by Vendor must

## REQUEST FOR QUOTATION PAINT & PAINT TOOLS

meet the industry standard for the quality metric designated on the Pricing Pages.

#### 3.3 Other Mandatory Requirements

- 3.3.1 All paint or other products bid shall meet the requirements contained in the Pricing Pages.
- 3.3.2 Vendor shall supply color charts to all agencies as requested. Failure to provide the requested color charts as required shall be grounds to cancel the contract.
- 3.3.3 Packaging: All items must be packed in substantial commercial containers of the type, size and kind used commonly for the purpose and so constructed as to insure safe acceptance and delivery.

  Shipping cartons must be marked to include the following:
  - 1. Description of item
  - 2. Name of the Vendor
  - 3. Contract Number (PAINT17)
  - 4. Ordering number of the Agency

#### 4. CONTRACT AWARD:

- 4.1 Contract Award: The Contract is intended to provide Agencies with a purchase price on all Contract Items. The Contract shall be awarded to the Vendor that provides the Contract Items meeting the required specifications for the lowest overall Total Bid Amount as shown on the Pricing Pages.
- 4.2 Pricing Pages: Vendor should complete the Pricing Pages, Exhibit "A", by filling in the Stock Number and inserting the Unit Price and multiplying by Estimated Quantities to find Extended Price for each item. Vendor should complete the Pricing Pages in their entirety as failure to do so may result in Vendor's bids being disqualified.

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Vendor must use and submit the attached Excel (Exhibit A) pricing pages prior to bid opening date and time.

• Online submissions will not be permitted for this solicitation due to the number of items on the pricing pages.

Exhibit A pricing pages contain a list of frequently purchased items and estimated unit quantity that will be purchased. The estimated unit quantity for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Vendors are strongly encouraged to complete Exhibit A pricing pages in Microsoft Excel. Doing so will reduce the number of, and the possibility for, calculation errors. The pricing pages were created as a Microsoft Excel document and Vendor can request an electronic copy for bid purposes by sending an email request to the following address: Michelle.L.Childers@wv.gov

The Purchasing Division reserves the right to take Vendor's Pricing Pages and insert the appropriate numbers into the Microsoft Excel spreadsheet if Vendor chooses to complete the Pricing Pages in any other way.

#### 5. ORDERING AND PAYMENT:

- 5.1 Ordering: Vendor shall accept orders through wvOASIS, regular mail, facsimile, e-mail, or any other written form of communication. Vendor may, but is not required to, accept on-line orders through a secure internet ordering portal/website. If Vendor has the ability to accept on-line orders, it should include in its response a brief description of how Agencies may utilize the on-line ordering system. Vendor shall ensure that its on-line ordering system is properly secured prior to processing Agency orders on-line.
- 5.2 All prices quoted must be FOB destination to the agency location. Minimum shipping amount for free delivery shall be \$100.00.
- 5.3 This contract is mandatory use for all orders in excess of \$100.00. Orders of less than \$100.00 may be purchased from any local source to eliminate delivery charges, if such local delivered purchase results in savings. No agency shall issue a series of requisitions to circumvent the \$25,000 threshold. Violation of the \$25,000 threshold is commonly referred to as "stringing" as is prohibited by law.
- 5.4 Payment: Vendor shall accept payment in accordance with the payment procedures of the State of West Virginia.

#### 6. DELIVERY AND RETURN:

6.1 Delivery Time: Vendor shall deliver standard orders within five (5) working days after orders are received. Vendor shall deliver emergency orders within two (2)

working day(s) after orders are received. Vendor shall ship all orders in accordance with the above schedule and shall not hold orders until a minimum delivery quantity is met.

6.2 Late Delivery: The Agency placing the order under this Contract must be notified in writing if orders will be delayed for any reason. Any delay in delivery that could cause harm to an Agency will be grounds for cancellation of the delayed order, and/or obtaining the items ordered from a third party.

Any Agency seeking to obtain items from a third party under this provision must first obtain approval of the Purchasing Division.

- 6.3 Delivery Payment/Risk of Loss: Standard order delivery shall be F.O.B. destination to the Agency's location. Vendor shall include the cost of standard order delivery charges in its bid pricing/discount and is not permitted to charge the Agency separately for such delivery. The Agency will pay delivery charges on all emergency orders provided that Vendor invoices those delivery costs as a separate charge with the original freight bill attached to the invoice.
- 6.4 Return of Unacceptable Items: If the Agency deems the Contract Items to be unacceptable, the Contract Items shall be returned to Vendor at Vendor's expense and with no restocking charge. Vendor shall either make arrangements for the return within five (5) days of being notified that items are unacceptable, or permit the Agency to arrange for the return and reimburse Agency for delivery expenses. If the original packaging cannot be utilized for the return, Vendor will supply the Agency with appropriate return packaging upon request. All returns of unacceptable items shall be F.O.B. the Agency's location. The returned product shall either be replaced, or the Agency shall receive a full credit or refund for the purchase price, at the Agency's discretion.
- 6.5 Return Due to Agency Error: Items ordered in error by the Agency will be returned for credit within 30 days of receipt, F.O.B. Vendor's location. Vendor shall not charge a restocking fee if returned products are in a resalable condition. Items shall be deemed to be in a resalable condition if they are unused and in the original packaging. Any restocking fee for items not in a resalable condition shall be the lower of the Vendor's customary restocking fee or 5% of the total invoiced value of the returned items.

#### 7. VENDOR DEFAULT:

- 7.1 The following shall be considered a vendor default under this Contract.
  - 7.1.1 Failure to provide Contract Items in accordance with the requirements contained herein.
  - **7.1.2** Failure to comply with other specifications and requirements contained herein.
  - 7.1.3 Failure to comply with any laws, rules, and ordinances applicable to the Contract Services provided under this Contract.
  - 7.1.4 Failure to remedy deficient performance upon request.
- 7.2 The following remedies shall be available to Agency upon default.
  - 7.2.1 Immediate cancellation of the Contract.
  - 7.2.2 Immediate cancellation of one or more release orders issued under this Contract.
  - 7.2.3 Any other remedies available in law or equity.

#### 8. MISCELLANEOUS:

- **8.1** No Substitutions: Vendor shall supply only Contract Items submitted in response to the Solicitation unless a contract modification is approved in accordance with the provisions contained in this Contract.
- 8.2 Vendor Supply: Vendor must carry sufficient inventory of the Contract Items being offered to fulfill its obligations under this Contract. By signing its bid, Vendor certifies that it can supply the Contract Items contained in its bid response.

## REQUEST FOR QUOTATION PAINT & PAINT TOOLS

- 8.3 Reports: Vendor shall provide quarterly reports and annual summaries to the Agency showing the Agency's items purchased, quantities of items purchased, and total dollar value of the items purchased. Vendor shall also provide reports, upon request, showing the items purchased during the term of this Contract, the quantity purchased for each of those items, and the total value of purchases for each of those items. Failure to supply such reports may be grounds for cancellation of this Contract.
- 8.4 Contract Manager: During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should list its Contract manager and his or her contact information below.

Contract Manager: _	Brian Dolfi	
Telephone Number:	304-962-7318	
Fax Number:	304-366-3968	
Email Address:	dolfi@ppg.com	

			SECTION I- PAINT		PER 1 GAL	LON		PER 5 GALLO	IN DAIL
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10
LINE ITEM	STOCK#	CODE	DESCRIPTION	EST. QTY (1 gallon)	UNIT PRICE (1 Gallon)	TOTAL (1 Gelion)	EST. QTY (5 Gallon Pall)	UNIT PRICE (5 Gallon Path)	TOTAL (5 Gallon Pall)
1	The second	G	Interior Latex Flat- Minimum Volume Solids 32%	100		Same alle	10	1	197
2	Constitute of	G	Interior Laigu Semi-Gloss- Minimum Volume Solids 32%	400	11/4/14	1	40	15	15.
3	. ****	В	Interior Laws Flat-Minkmum Volume Solids 36%	600	14		20		
4	10	В	Interior Latest Eggshell Finish- Minumum Volume Solids 36%	300	***		75		
5		В	Interior Lates Setin Finish-Minimum Volume Solids 36%	600			120		
. 6		В	Interior Latex Semi-Gloss-Minimum Volume Solids J6%	400	<b>353</b>		120		
7	A 20	BST	Interior Latex Flat- Minimum Volume Solids 42%	100	46.5		20		
8		BST	Interior Latex Satin Finish- Minimum Volume Solids 42%	200			20		(C) 0
9		BST	Interior Latest Semi-Gloss- Minimum Volume Solids 42%	100	A CHARLES		20		70
10		BST	Interior Latest Flat, Low Odor, No VDC - Minimum Volume Solids 41%	100	4.5		20	- 1	
_11		BST	Interior Latex Eggshell Finish, Low Odor, No VOC-Min. Volume Solids 41%	200			20		W. 1. 18. 18.
12		BST	Interior Latex Semi-Gloss, Low Odor, No VOC- Min. Volume Solids 41%	200	10.00	** ***********************************	30	1 -42-14	10 3 W
13		G	Interior Latex Primer- Minimum Volume Solids 29%	120	A. C. 154	- (-)	40	14.00	
14	1	В.	Interior/Exterior Latex Stain Block Primer- Minimum Volume Solids 36%	150		447.64		11.11	
15		В	Int/Ext Alkyd Stein Block Primer- Minimum Volume Solids 57%	100	4		40		70
16		В	Exterior Lates Flat-Minimum Volume Solids 34%	100		Service Co		\$ 17.3°57	K. Ath
17		B	Exterior Latex Satin- Minimum Volume Solids 34%	100	* ** #*	型 为各二次	10		e - 10 - 10 -
18		В	Exterior Laten Gloss- Minimum Volume Solids 34%	200	2		30		
19		BST	Exterior Later, Flat- Minimum Volume Solids 36%	100			30	7	- 1 T
20		BST	Exterior Latex Satin- Minimum Volume Solids 36%	60	**************************************	100	10		715 F. 8
21		BST	Exterior Laker Gloss- Minimum Volume Solids 35%	125			20		
22		BST	Int/Ext Direct to Metal Latex Acrylic Satin/Semi-Gloss-Min. Vol. Solids 38%	75		-1 '40 A	40		3.4
23		BST	Int/Ext Industrial Oil Base Enamel Gloss-Minimum Volume Solids 43%	450	24.3	1 1 1	N/A		5 TATE
24		BST	Industrial Universal Rust Inhibitive Primer- Minimum Volume Solids 53%	250	35.57	7.1	20	F. (1)	19. 107 P
25	a de la	BST	Interior/Exterior Floor Enamel Gloss Oll Base- Minimum Volume Solids 45%	175		1 10 72	N/A	C Hex Co	M MA
26			Traffic Marking Paint Oil Base Quick Dry- Minimum Volume Solids 47%	100		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	20		1976
27			Traffic Marking Paint Acrylic Latex Quick Dry-Minimum Volume Solids 50%		Me stages	11. 42.15		a transfer s	the state of the s
28			Traffic Marking Paint Latex Quick Dry- Minimum Volume Solids 52%	25		* * *	PA 5	2 / William	30. 30.00
29		В	Exterior Statin Solid Cotor Oil	43u	V 5 . 3 . 7	r 0 9	50	1 Km. 2	
30		В	Exterior Stain Semi-Transparent Oil- Minimum Voluma Solids 14%	50	7		20	The second	Sign of the second
31	77. NK S		Exterior Stain Solid Color Latex Acrylic-Minimum Volume Solids 33%	250	Č***	0, 1	50		or and a second
32			Exterior Clear Oll Base Scaler- Minimum Volume Sollds 33%	150		30			0'

33		В	InVExt Glosa Varnish Oil Base- Minimum Volume Solids 45%	75	Wet nave	N/A	NA TANA
34	, 15 66	В	Int/Ext Satio Vernish Oil Base- Minimum Volume Solids 44%	85	5 1 5 10 5 75	N/A	Y NIA NIA
35		В	Interior Water Base Polyurethane Gloss- Minimum Volume Solids 26%	20		N/A	NA NA
36	~ <b>* * *</b> * *	В	Interior Water Base Polyurethane Satin- Minimum Volume Solids 25%	20		N/A	The Table
37		В	Lacquer Thinner	100	The state of the s	50	
			Total		0	_	\$0.00

#### SECTION II- PAINT TOOLS

Column 1	Column 2	Column 3	Column 4	Column 5	Column 6
ITEM	STOCK#	DESCRIPTION	EST. QTY	UNIT PRICE	TOTAL
1	MICHEL PORTON	1° Width Flet Chip Brush, Ideal for one time jobs, Width 1"/Length 1 1/2"/Thk, 3/8" Mitg. PPR or equal.	25		
2		2" Width Flat Chip Brush. Ideal for one time jobs. Width 2"/Length 1 1/2"/Thk, 3/8" Mig. PPR or equal.	25		Q.
3		3" Width Flat Chip Brush, Ideal for one time jobs. Width 3"/Length 1 1/2"/Thk. 3/8" Mtg. PPR or equal.	25		 <u>(i</u>
4		4" Width Flat Chip Brush. Ideal for one time jobs, Width 4"/Length 2"/Thk. 5/6" Mfg. PPR or equal.	50		. 0
5		1" All Purpose Polyester/Varnish Flat Brush. Width 1"/Length 2 1/4"/Thk. 3/8" Mfg. Wooster #3286-1 or equal.	450	7.00	
6		1 1/2" All Purpose Polyester/Vamish Flat Brush. Width 1 1/2"/Length 2 1/4"/Thk. 7/16" Mig. Wooster #3286-1.5 or equal.	110		ů
7		2" All Purpose Polyester/Varnish Flat Brush. Width 2"/Length 2 1/4"/Thk, 7/16" Mfg. Wooster #3286-2 or equal.	1100		Q
8		3" All Purpose Polyester/Varnish Flat Brush, Width 3"/Length 2 3/4"/Thk, 1/2" Mig. Wooster #3286-3 or equal.	600	B'. 5%	
9		4" All Purpose Polyester/Varnish Fiat Brush, Width 4"/Length 2 3/4"/Thk, 11/16" Mfg. Wooster #3286-4 or equal.	700		Ù
10		1 1/2" Nylon/Polyester Angle Sash Brush. Professional quality whoden handle. Width 1 1/2"/Length 2 3/8"/Thk. 1/2" Mfg. Wooster f/3251-1 5 or equal	70	Adella	ď
11		2" Nyton/Polyester Angle Sash Brush, Professional quality wooden handle. Width 2"/Length 2 5/8"/Thk. 9/16" Mig. Wooster #3251-2 or equal.	375		Ö
12		2 1/2" Nylort/Polyester Angle Sash Brush. Professional quality wooden handle. Width 2 1/2/Length 2 7/8"/Thk. 5/8" Mig. Wooster #3251-2.5 or equal.	250	n de	
13		3" Nylon/Polyester Angle Sash Brush. Professional quality wooden handle. Wildth 3"/Length 3 1/8"/Thk, 11/16" Mfg. Wooster #3251-3 or equal.	150	- max	0
14		3/6" Nap 9" Width All Purpose Roller Covers. Recommended for smooth surface, drywall, plaster. Mfg Besii Liebco or equal.	600		ð
15		3/8" Nap 9" Width Pro Woven Roller Covers. Shed resistant, ant free fabric for all paint. Mig Wooster #HR551-4 or equal.	750		Ð
16		3/8" Nap 4" Width Pro Woven Roller Covers, Shed resistant, lint free fabric for all paints. Mfg. Wooster f-HR551-4 or equal.	750	(1) (2) (2)	ů
17		1/2" Nap 4" Width Pro Woven Roller Covers. Shad resistant, lint free fabric for all paints. Mig. Wooster #HR55S-4 or equal.	450		'n
18		9" Professional Roller Frame. Heavy duty. Mfg. Wooster #R027 or equal.	300		D
19	Radia a A.	4" Professional Roller Frame. Heavy duty. Mig. Wooster #HR559 or equal.	250		* 0
20	State of the second	9" Premium Roller Frame, Lightweight, Mfg. Wooster #HR559 or equal.	200	848 BUT 9	. 0

21	Land Same of the	Plastic Roller Tray for 9" Roller Covers. Mfg. Z-PRO or equal.	350	2 + W F	
22		Heavy Duty Plastic Roller Tray for 9° Roller Covers with Ladder Hooks. Mfg. Wooster #R404 or equal.	300		e
23	1974	48" Wood Extension Pole with Metal Threads, Mfg, Bastl Liebco or equal.	50	6	0.
24	307.	9'x12' 2 mil Plastic Drop Cloths Mig Z-PRO or equal.	240	gen i in	5 n 35
25		3/4" x 180' 3M General Purpose Masking Tape. Mfg, 3M-2020 or equal,	220	13 K	0.0
26	207.00	1° x 180' 3M General Purpose Masking Tape, Mfg, 3M-2020 or equal.	130	A	6.7
27		2" x 180' 3M General Purpose Masking Tape. Mfg. 3M-2020 or equal.	280	3 15 Y	0
28	10.2	1" x 180' 3M Blue Long Painters Masking Tane. Mfg. 3M-2090 or equal.	60	Super State	0
29		1 1/2" x 180' 3M Blue Long Painters Masking Tape. Mfg. 3M-2090 or equal.	75	Apa Arris	2 1 10
30	<i>(**1</i> )	Onetima Lightweight Speckling Paste. 1 quart size. Mfg. Red Devil or equal.	35	B-04-75-5-5-5	10
31		100% Acrylic Latex Caulk. Paintable. Int/ext usa. White only. 10.3 oz. Mfg. PPG Brand Top Gun or equal.	150		6 0.
32		Sifeconized Acrylic Cauli. Paintable Excellent adhesion and durability. Int/ext usa. Colors, 10.3 ox, Mfg. PPG Brand Top Gun or equal.	200	-	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1
33		100% Silicone Plus Caulk. Int/ext white. Recommended not paintable. 10.1 oz. Míg. Dap or equal.	130		n d
34		100% Silficone Plus Caulk. Int/ext clear. Recommended not paintable. 10.1 oz. Míg. Dap or equal.	200		10
35	The state of the s	General Purpose Paint Thinner 100% Mineral Spirits. 1 gation container.	300	2 / Sec. 20	
36		Rust Inhibitive Fast Dry Spray Paint. All colors. 12oz. Mfg. PPG Pitt Bull or equal.	1700	E	10
37		Grafilli and Over Sprav Remover. Removes grafilit of aerosol spray paint, ink, feit marker. Will not harm clear coat surface on cars, plexi-glass or polycarbonates. Biodegradable Liquid. Mig. PPG or equal.	10	No. Par	0
38	50 SET S	Automotive & Heavy Industrial Paint Stripper. Removes epoxy, alkyds, zinc primers, urethane & coal tar epoxies from surfaces such as tanks, bridges, railway cars, painted plastic (car bumpers), etc. Blodegradable Liquid, Mig PPG or equal.	10		0
39		Industrial Paint Stripper. Water based, fully blodegradable, non-flammable, Clean up with water. Will not burn skin. Removes epoxy, urethanes, latex, oil based paint from steel, aluminum, concrete, masonry. Mfg. PPG or equal.	10		<b>10</b> 0 ÷
40		Waste Pint Hardener, Powder form, Quickly hardens latex print for legal disposal. Environmentally safe, Hardens 2/3 of a gallon per bag, Mfg. BloWash or equal.	100		*0
41		Lacquer Thirmer	100		, 0'-
42		Inverted Highway Yellow All traffic colors.	50	er .	0
43	30	3/8" General Purpose Roller Covers. Mfg. Bestt Liebco or equal.	250		,ti
44	Sadant A	1/2" General Purpose Roller Covers. Mfg. Bestt Liebco or equal.	250		10
45		3/4" General Purpose Roller Covers, Mfg. Bestt Liebco or equal.	250		^ D
4U		5 Gailon Bucket Grids, Mfg. Bestt Llebco or equal.	100		0
47		3/16"- 9" Roller Cover Woven, Mig. Wooster JHR552-9 or equal.	100		0
48		3/16"- 4" Roller Cover Woven, Mfg. Wooster #HR552-4 or equal.	100		2 . 3. 3.
49	16.3.75 3.75	2 1/2" Paint scraper, Mfg. Warner #90189 or aqual.	50	A 7.35.40	
50		5 in 1 Glazier Knife, Mfg, Warner #90189 or equal.	50	1	0.5
51		4 1/2" Jumbo Koter Super Twist Roller Cover. 2 pack. Mfg. Wooster #RR306 or equal.	100	\$ 4	.0
52		14" Jumbo Koter Frama, Mfg. Wooster //RR041 or equal.	100		y: 0

			二十二次 のでみ と
	100	30	
PAINT16-PRICING PAGES	6 1/2" Jumbo Koter Super Twist Roller Cover. 2 pack. Mfg. Wooster #RR306 or equal.	基4*x15*PM Carvas Drop Cloth, 10-11 oz or equal,	

Exhibit A

6 1/2" Jumbo Koter Super Twist Roller Cover. 2 pack. Mfg. Wooster #RR306 or equal.	004	**	age to
(\$44 x 15) PM Canvas Drop Cloth 10.11 oz or enusi	20 8		9
O v 10' DM Compet Draw Carlo 10 44 camerant	8		
SW DE DEINE CONTRACT OF THE CO	30		2
State of the state	20		30.0
13/4 - 4 Roller Cover Woven. Mtg. Wooster #HR556-4 or equal.	20	A A STATE OF THE S	
Total			\$0.00

27 88 52 52

0000	2000	00:05
PAIN	L TOG	TOTA
TOTAL PAI	TOTAL	GRAND TOTA

VENDOR NAME:	PHONE:
CONTACT PERSON:	FAX:
(Please Print)	EMAIL:
AUTHORIZED REPRESENTATIVE:	
(Signature)	(Date)
AUTHORIZED REPRESENTATIVE:	
(Print)	

32

WV-10 Approved / Revised 12/16/15

## State of West Virginia

### VENDOR PREFERENCE CERTIFICATE

Certification and application is hereby made for Preference in accordance with *West Virginia Code*, §5A-3-37. (Does not apply to construction contracts). *West Virginia Code*, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the *West Virginia Code*. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Vendor Preference, if applicable.

	Bidder is an individual resident vendor and has re-	nce for the i sided continu	re <b>es</b> Jous	on ch y in W	ecked lest Vir	: ginia for 1	iour (4) y	ears im	ımediatel	y preced-
	ing the date of this certification; or, Bidder is a partnership, association or corporation business continuously in West Virginia for four (4	resident ven	dor a ediat	nd ha	s main ecedin	tained its o the dat	headquate of this	arters c certific	or principa ation:	al place of
	Bidder is a resident vendor partnership, associated by another entity that meets the a	ation, or con	pora	tion w	ith at k	- east eint	nty nerce	ant of o	_	o interest
	Bidder is a nonresident vendor which has an affiliat and which has maintained its headquarters or prin years immediately preceding the date of this certi	te or subsidia ncipal place (	arv w	hich e	molovs	a minim	um af an	e hundi	red state usly for th	residents e four (4)
<u>2</u>	Application is made for 2.5% vendor preferent Bidder is a resident vendor who certifies that, du working on the project being bid are residents of Wimmediately preceding submission of this bid; or,	ring the life o Vest Virginia	of the	cont	ract. o	n averad	e at leas ate conti	st 75% nuousl	of the en y for the t	nployees wo years
3.	Application is made for 2.5% vendor preferent Bidder is a nonresident vendor that employs a min has an affiliate or subsidiary which maintains its employs a minimum of one hundred state reside completing the project which is the subject of the average at least seventy-five percent of the bidderesidents of West Virginia who have resided in the vendor's bid; or,	inimum of or headquarte ents, and for e bidder's bi er's emplove	ne hu purp d and	ndred princ oses d conf r the b	d state sipal pla of prod tinuous sidder's	resident: ace of bu ducing or sly over t a affiliate	usiness v r distribu the entire r's or sub	within V ning the e term sidiary	Nest Virg e commo of the pro 's emplo	pinia and odities or oject, on vees are
4.	Application is made for 5% vendor preference Bidder meets either the requirement of both subdiv	o for the rea visions (1) ar	son nd (2)	chec orsu	k <b>ed:</b> bdivisi	on (1) an	id (3) as t	stated a	above; or	·,
	Application is made for 3.5% vendor preferent Bidder is an individual resident vendor who is a vete and has resided in West Virginia continuously for submitted; or,	ran of the Un	ited S	States	armed	forces, ti	he reserv	es or th	ne Nation which ti	al Guard ne bid is
	Application is made for 3.5% vendor preferent Bidder is a resident vendor who is a veteran of the purposes of producing or distributing the commodit continuously over the entire term of the project, or residents of West Virginia who have resided in the	United State lies or compl n average at	es ar eting leas	med f the pa t seve	orces, roject v antv-fiv	the reservation is the percent of the contract	rves or the he subject nt of the v	ne National	vendor's	bld and
	Application is made for preference as a non-idance with <i>West Virginia Code</i> §5A-3-59 and V Bidder has been or expects to be approved prior to and minority-owned business.	Vest Virgini	a Co	de of	State	Rules.	•		•	
requirem or (b) ass	nderstands if the Secretary of Revenue determine nents for such preference, the Secretary may order t sess a penalty against such Bidder in an amount no racting agency or deducted from any unpaid baland	the Director of ot to exceed	of Pu	rchasi of the	ng to: ( bid am	a) rescin	d the cor	ntract or	r curches	e order
authorize the requi	ission of this certificate, Bidder agrees to disclose as the Department of Revenue to disclose to the Dire red business taxes, provided that such information by the Tax Commissioner to be confidential.	ector of Purch	nasin:	anna	ooriate	e informat	tion verifi	ving tha	ıt Ridder k	nae naid
and if an	ereby certifies that this certificate is true and a sything contained within this certificate change sion in writing immediately.	accurate in es during th	all re e te:	spec m of	ts; and	d that if a ntract, E	a contra 3idder w	ict is is iii noti	sued to fy the Pu	Bldder Irchas-
_	PPG Architectural Finishes, Inc.	Signed:	1	2	MA	Sa	<u> </u>		SIGN H	ERE
Date:	19/9/16	Title:	Vi	ce Pr	eside	) 1t		0.7		
*Check any	y combination of preference consideration(s) indicated abo	ve, which you	are e	ntitled	to recei	ve.				

**DESIGNATED CONTACT:** Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

Ma	ry Goltz National Bid Ma	anager	
(Name, T	itle)		
	Mary Goltz National Bi	id Manager	
(Printed 1	Name and Title) 528 Fairmont Avenue	Fairmont, WV 26554	
(Address)	910-515-0538	855-292-6543	
(Phone N	umber) / (Fax Numbe	<b>EXT</b> )	
	goltz@ppg.com		
(email add		·	

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

PPG Architectural Finishes, Inc.	
(Company)  SIGN HERE	
(Authorized Signature) (Representative Name, Title)	
Thomas E. Maziarz Vice President	
(Printed Name and Title of Authorized Representative)	
12/9/16	
(Date)	
910-515-0538	
(Phone Number) (Fax Number)	

#### STATE OF WEST VIRGINIA Purchasing Division

## **PURCHASING AFFIDAVIT**

MANDATE: Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

**EXCEPTION:** The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

#### **DEFINITIONS:**

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, fallure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the Insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (W. Va. Code §61-5-3) that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

#### WITNESS THE FOLLOWING SIGNATURE:

Vendor's Name: PPG Architectural Finishes, In	nc.	
Authorized Signature: 12 Maylan	SIGN HERE	Date: 12/12/16
State of Pennsylvania		
County of Butler, to-wit:		
Taken, subscribed, and sworn to before me this $Q$	day of December	<u>20 ) (</u>
My Commission expires // //9/	, 20 <u>/7</u> .	
AFFIX SEAL HERE	NOTARY PUBLIC	5-22
COMMONWEALTH OF PENNSY  Notarial Sett  S. Kade Grevas, Notary Pu Ingram Boro, Allegheny Commission Evolutes Nov. 1	iblic	Purchasing Affidavit (Revised 08/01/2015)

HEMSER PENNSYLVANIA ASSOCIATION OF NOTARIES

#### **Exception to State of West Virginia Request for Quotation (RFQ)**

#### Solicitation No. CRFQ 0212 SWC1700000007

**Doc Description: Paint and Paint Supplies** 

PPG Architectural Finishes, Inc. submits the following exception to Paragraph 10 of the General Terms and Conditions (Liquidated Damages) contained within the above-referenced rfq:

10. INTENTIONALLY OMITTED

PPG ARCHITECTURAL FINISHES, INC.

Name: Thomas E. Maziarz

Title: Vice President





PPG Architectural Finishes, Inc.

# PPG Store Locations to Service West Virginia

PPG Paints 528 Fairmont Ave Fairmont, WV 26554 304-366-3482

PPG Paints 436 National Road Wheeling, WV 26003 304-232-3100

PPG Paints 802 Hoods Creek Pike Ashland, KY 41101 606-325-3994

PPG Paints 1303 Dual Highway Hagerstown, MD 21740 301-790-0681

PPG Paints 5628 Buckeyestown Pike Fredrick, MD 21704 301-846-7835

PPG Paints 701 Fourth Street SE Roanoke, VA 24013 540-344-7721

PPG Paints 145 South Main Street Washington, ,PA 15301 724-225-1930



			SECTION I- PAINT		PER 1 GALI	LON	PER 5 GALLON PAIL		
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10
LINE ITEM	STOCK#	CODE	DESCRIPTION	EST. QTY (1 gallon)	UNIT PRICE (1 Gallon)	TOTAL (1 Gallon)	EST. QTY (5 Gallon Pall)	UNIT PRICE (5 Gallon Pall)	TOTAL (5 Gallon Pall)
1	15-1110	G	Interior Latex Flat- Minimum Volume Solids 32%	100	\$7.75	\$775.00	40	\$38.75	\$1,550.00
2	47-510	G	interior Latex Semi-Gloss- Minimum Volume Solids 32%	400	\$7.90	\$3,160.00	40	\$39.50	\$1,580.00
3	12-110	В	Interior Latex Flat- Minimum Volume Solids 36%	600	\$8.99	\$5,394.00	20	\$44.95	\$899.00
4	12-310	В	Interior Latex Eggshell Finish- Minumum Volume Solids 36%	300	\$9.99	\$2,997.00	75	\$49.95	\$3,746.25
5	1433	В	Interior Latex Satin Finish- Minimum Volume Solids 36%	600	\$10.44	\$6,264.00	120	\$51.00	\$6,120.00
6	12-510	В	Interior Latex Semi-Gloss- Minimum Volume Solids 36%	400	\$11.00	\$4,400.00	120	\$54.00	\$6,480.00
7	6-70	BST	Interior Latex Flat- Minimum Volume Solids 42%	100	\$9.75	\$975.00	20	\$47.50	\$950.00
8	6-411	BST	Interior Latex Satin Finish- Minimum Volume Solids 42%	200	\$10.50	\$2,100.00	20	\$50.00	\$1,000.00
9	6-500	BST	Interior Latex Semi-Gloss- Minimum Volume Solids 42%	100	\$10.75	\$1,075.00	20	\$52.50	\$1,050.00
10	6-4110XI	BST	Interior Latex Flat, Low Odor, No VOC- Minimum Volume Solids 41%	100	\$9.75	\$975.00	20	\$45.00	\$900.00
11	6-4310XI	BŞT	Interior Latex Eggshell Finish, Low Odor, No VOC- Min. Volume Splids 41%	200	\$10.50	\$2,100.00	20	\$50.00	\$1,000.00
12	6-4500XI	BST	Interior Latex Semi-Gloss, Low Odor, No VOC- Min. Volume Solids 41%	200	\$10.55	\$2,110.00	30	\$50.00	\$1,500.00
13	12-900	G	Interior Latex Primer- Minimum Volume Solids 29%	120	\$7.00	\$840.00	40	\$35.00	\$1,400.00
14	17-921	В	Interior/Exterior Latex Stain Block Primer- Minimum Volume Solids 36%	150	\$12.40	\$1,860.00	50	\$60.00	\$3,000.00
15	6-14	В	Int/Ext Alkyd Stain Block Primer- Minimum Volume Solids 57%	100	\$14.00	\$1,400.00	40	\$70.00	\$2,800.00
16	56-110XI	В	Exterior Latex Flat- Minimum Volume Solids 34%	100	\$11.00	\$1,100.00	10	\$55.00	\$550.00
17	56-410XI	В	Exterior Latex Satin- Minimum Volume Solids 34%	100	\$11.50	\$1,150.00	10	\$55.00	\$550.00
18	56-510XI	В	Exterior Latex Gloss- Minimum Volume Solids 34%	200	\$12.50	\$2,500.00	30	\$60.00	\$1,800.00
19	6-610XI	B\$T	Exterior Latex Flat- Minimum Volume Solids 36%	100	\$11,25	\$1,125.00	30	\$55.00	\$1,650.00
20	6-2045XI	BST	Exterior Latex Satin- Minimum Volume Solids 36%	60	\$12.18	\$730.80	10	\$60.00	\$600.00
21	6-900XI	BST	Exterior Latex Gloss- Minimum Volume Solids 35%	125	\$12.55	\$1,568.75	20	\$61.00	\$1,220.00
22	90-474	BST	Int/Ext Direct to Metal Latex Acrylic Satin/Semi-Gloss- Min. Vol. Solids 38%	75	\$14.00	\$1,050.00	40	\$70.00	\$2,800.00
23	7-814	BST	Int/Ext Industrial Oil Base Enamel Gloss-Minimum Volume Solids 43%	450	\$15.50	\$6,975.00	N/A	N/A	N/A
24	94-258	BST	Industrial Universal Rust Inhibitive Primer- Minimum Volume Solids 53%	250	\$15.00	\$3,750.00	20	\$72.50	\$1,450,00
25	7-814	BST	Interior/Exterior Floor Enamel Gloss Oil Base- Minimum Volume Solids 45%	175	\$16.50	\$2,887.50	N/A	N/A	N/A
26	AEX00308	B\$T .	Traffic Marking Paint Oil Base Quick Dry- Minimum Volume Solids 47%	100	\$12.50	\$1,250.00	20	\$60.00	\$1,200.00
27	AEX00304	BST	Traffic Marking Paint Acrylic Latex Quick Dry- Minimum Volume Solids 50%	110	\$10.35	\$1,138.50	25	\$56.00	\$1,400.00
28	AEX00306	BST	Traffic Marking Paint Latex Quick Dry- Minimum Volume Solids 52%	25	\$12.65	\$316.25	5	\$61.00	\$305.00
29	FLD820/SIK710	В	Exterior Stain Solid Color Oll	430	\$17.75	\$7,632.50	50	\$17.23	\$861.50
30	FLD802		Exterior Stain Semi-Transparent Qil- Minimum Volume Solids 14%	50	\$12.50	\$625.00	20	7	\$0.00

			Total			\$80,265,50		_	\$51 911 74
37	861	В	Lacquer Thinner	100	\$9.00	\$900.00	50	\$45.00	\$2,250.00
36	DFT159	В	Interior Water Base Polyurethane Satin- Minimum Volume Solids 26%	20	\$22.59	\$451.80	N/A	N/A	N/A
35	DFT157	В	Interior Water Base Polyurethane Gloss- Minimum Volume Solids 26%	20	\$22.59	\$451.80	N/A	N/A	N/A
34	DFT26	В	Int/Ext Satin Varnish Oil Base- Minimum Volume Solids 44%	65	\$22.59	\$1,468.35	N/A	N/A	N/A
33	DFT21	В	Int/Ext Gloss Varnish Oll Base- Minimum Volume Solids 45%	75	\$22.59	\$1,694.25	N/A	N/A	N/A
32	FLD447	В	Exterior Clear Oli Base Sealer- Minimum Volume Solids 33%	150	\$13.00	\$1,950.00	. 20	\$65.00	\$1,300.00
31	FLD820	В	Exterior Stain Solid Color Latex Acrylic-Minimum Volume Solids 33%	250	\$12.50	\$3,125.00	50		\$0.00

#### SECTION II- PAINT TOOLS

Column 1	Column 2	Column 3	Column 4	Column 5	Column 6
ITEM	STOCK#	DESCRIPTION	EST. QTY	UNIT PRICE	TOTAL
1	RVN00002/EA	1" Width Flat Chip Brush, Ideal for one time jobs, Width 1"/Length 1 1/2"/Thk, 3/8" Mfg. PPR or equal.	25	\$0.22	\$5.50
2	RVN00004/EA	2* Width Flat Chip Brush. Ideal for one time jobs. Width 2*/Length 1 1/2*/Thk, 3/8* Mfg. PPR or equal.	25	\$0.35	\$8.75
3	RVN00006/EA	3" Width Flat Chip Brush. Ideal for one time jobs, Wkith 3"/Length 1 1/2"/Thk. 3/8" Mfg. PPR or equal.	25	\$0.60	\$15.00
4	RVN00010/EA	4" Wildth Flat Chip Brush, Ideal for one time jobs. Wildth 4"/Length 2"/Thk. 5/8" Mfg. PPR or equal.	50	\$1.15	\$57.50
5	WBC17300/EA	1" All Purpose Polyester/Vamish Flat Brush. Width 1"/Length 2 1/4"/Thk. 3/6" Mfg. Wooster #3286-1 or equal.	450	\$1.00	\$450.00
6	WBC17301/EA	1 1/2" All Purpose Polyesier/Vamish Flat Brush. Width 1 1/2"/Length 2 1/4"/Thk. 7/16" Mfg. Wooster #3286-1.5 or equal.	110	\$1.38	\$151.80
7	WBC17302/EA	2* All Purpose Polyester/Vamish Flat Brush. Width 2*/Length 2 1/4*/Thk. 7/16* Mfg. Wooster #3286-2 or equal.	1100	\$1.30	\$1,430.00
_ 8	WBC17303/EA	3* All Purpose Polyester/Vamish Flat Brush. Width 3*/Length 2 3/4*/Thk. 1/2* Mfg. Wooster #3286-3 or equal.	600	\$2.15	\$1,290,00
9_	W8C17307/EA	4" All Purpose Polyester/Varnish Fiat Brush, Width 4"/Length 2 3/4"/Thk, 11/16" Mfg. Wooster #3286-4 or equal.	700	\$2.85	\$1,995.00
10	PPGS92811/EA	1 1/2" Nyton/Polyester Angle Sash Brush. Professional quality wooden handle. Width 1 1/2"/Length 2 3/6"/Thk. 1/2" Mfg. Wooster #3251-1.5 or equal.	70	\$4.25	\$297.50
11	PPG59274/EA	2" Nyton/Polyester Angle Sash Brush. Professional quality wooden handle. Width 2"/Length 2 5/8"/Thk. 9/16" Mfg. Wooster #3251-2 or equal.	375	\$5.00	\$1,875.00
12	PPG59275/EA	2 1/2" Nylon/Polyester Angle Sash Brush. Professional quality wooden handle. Width 2 1/2/Length 2 7/8"/Thk. 5/6" Mfg. Wooster #3251-2.5 or equal.	250	\$6.50	\$1,625.00
13	PPG59276/EA	3" Nylon/Polyester Angle Sash Brush. Professional quality wooden handle. Width 3"/Length 3 1/8"/Thk. 11/16" Mfg. Wooster#3251-3 or equal.	150	\$8.58	\$1,287.00
14	PPG59301/EA	3/8" Nap 9" Width All Purpose Roller Covers. Recommended for smooth surface, drywall, plaster. Mfg Bestt Liebco or equal.	800	\$1.99	\$1,194.00
15	PPG59310/EA	3/8" Nap 9" Width Pro Woven Roller Covers, Shed resistant, lint free fabric for all paint. Mfg Wooster #HR551-4 or equal.	750	\$1.86	\$1,395.00
16	PPG59308/EA	3/8" Nap 4" Width Pro Woven Roller Covers. Shed resistant, lint free febric for all paints. Mfg. Wooster #HR551-4 or equal.	750	\$1.40	\$1,050.00

17	WBC54214/EA	1/2" Nap 4" Width Pro Woven Roller Covers. Shed resistant, lint free fabric for all paints. Mfg. Wooster #HR555-4 or equal.	450	\$1.25	\$562.50
18	WBC66269/EA	9" Professional Roller Frame, Heavy duty, Mfg. Wooster #R027 or equal.	300	\$3.22	\$966.00
19	WBC13609/EA	4" Professional Roller Frame. Heavy duty. Mfg. Wooster #HR559 or equal.	250	\$4.73	\$1,182.50
20	WBC66279/EA	9° Premium Roller Frame. Lightweight. Mfg. Wooster#HR559 or equal.	200	\$3.23	\$646.00
21	EII02512/EA	Plastic Roller Tray for 9" Roller Covers. Mfg. Z-PRO or equal.	350	\$1.10	\$385.00
22	WBC64471/EA	Heavy Duty Plastic Roller Tray for 9" Roller Covers with Ladder Hooks. Mig. Wooster #R404 or equal.	300	\$1.89	\$567.00
23	WBC14828/EA	48" Wood Extension Pole with Metal Threads. Mfg. Bestt Liebco or equal.	50	\$1.50	\$75.00
24	PRM00255/EA	9'x12' 2 mil Plastic Drop Cloths. Mfg Z-PRO or equal.	240	\$1.72	\$412.80
25	MMM69476/EA	3/4" x 180' 3M General Purpose Masking Tape. Mfg. 3M-2020 or equal.	220	\$1,35	\$297.00
26	MMM71106/EA	1" x 180' 3M General Purpose Masking Tape. Mfg. 3M-2020 or equal.	130	\$1.37	\$178.10
27	MMM71108/EA	2" x 180' 3M General Purpose Masking Tape. Mfg. 3M-2020 or equal.	280	\$2.69	\$753.20
28	MMM03681/EA	1" x 180' 3M Blue Long Painters Masking Tape. Mfg. 3M-2090 or equal.	60	\$3.17	\$190.20
29	MMM03682/EA	1 1/2" x 180' 3M Blue Long Painters Masking Tape. Mfg. 3M-2090 or equal.	75	\$4.40	\$330.00
30	RDI00544/EA	Onetime Lightweight Spackling Paste. 1 quart size. Mfg. Red Devil or equal.	35	\$3.38	\$118.30
31	1413/EA	100% Acrylic Letex Caulk, Paintable. Int/ext use. White only. 10.3 oz. Mfg. PPG Brand Top Gun or equal.	150	\$1.20	\$180.00
32	1414/EA	Siliconized Acrylic Caulk, Paintable. Excellent adhesion and durability. Intext use. Colors. 10.3 ox. Mfg. PPG Brand Top Gun or equal.	200	\$1.13	\$226.00
33	DAP08646/EA	100% Silicone Plus Caulk. Int/ext white. Recommended not paintable. 10.1 oz. Mfg. Dap or equal.	130	\$3.49	\$453.70
34	1419/EA	100% Silicone Plus Caulk. Int/ext clear. Recommended not paintable, 10.1 oz. Mfg. Dap or equal.	200	\$3.25	\$650.00
35	5132/01	General Purpose Paint Thinner 100% Mineral Spirits. 1 gallon container.	300	\$6.00	\$1,800.00
36	55 SERIES	Rust Inhibitive Fast Dry Spray Paint, All colors, 12oz, Mfg. PPG Pitt Bull or equal.	1700	\$2.88	\$4,896.00
37	PREP 400	Graffiti and Over Spray Remover. Removes graffiti of aerosol spray paint, ink, felt marker. Will not harm clear coat surface on cars, plaxi-glass or polycarbonates. Biodegradable Liquid. Mfg. PPG or equal.	10	\$30.00	\$300.00
38	PREP 240	Automotive & Heavy Industrial Paint Stripper. Removes epoxy, alkyds, zinc primers, urethane & coal tar epoxles from surfaces such as tanks, bridges, rallway cars, painted plastic (car bumpers), etc. Biodegradable Liquid. Mig. PPG or equal.	. 10	\$25.00	\$250.00
39	PREP 220	Industrial Paint Stripper. Water based, fully biodegradeble, non-flammable, Clean up with water. Will not burn skin. Removes epoxy, urethanes, latex, oil based paint from steel, eluminum, concrete, masonry. Mig. PPG or equal.	10	\$25.00	\$250.00
40	PREP 901	Waste Pint Hardener. Powder form. Quickly hardens latex paint for legal disposal. Environmentally safe. Herdens 2/3 of a gallon per bag. Mfg. BioWesh or equal.	100	\$1.40	\$140.00
41	861/01	Lacquer Thinner	100	\$9.00	\$900.00
42	RUS11268/EA	Inverted Highway Yellow, All traffic colors.	50	\$4.01	\$200.50
43	WBC50739/EA	3/8" General Purpose Roller Covers. Mfg. Beatt Liebco or equal.	250	\$1.25	\$312.50
44	WBC61289/EA	1/2" General Purpose Roller Covers. Mfg. Bestt Liebco or equal.	250	\$1.65	\$412.50
45	WBC61299/EA	3/4" General Purpose Roller Covers. Mfg. Bestt Liebco or equal.	250	\$1.65	\$412.50
46	PPR00210/EA	5 Gallon Bucket Grids. Mfg. Bestt Liebco or equal.	100	\$1.25	\$125.00

		Total			\$34,575.5
57	WBC12091/EA	3/4"- 4" Roller Cover Woven. Mfg. Wooster #HR556-4 or equal.	50	\$1.25	\$62.50
56	PPG59312/EA	3/4"- 9" Roller Cover Woven. Mfg. Wooster #HR556-9 or equal.	50	\$2.50	\$125.00
55	PPG28722/EA	9' x 12' PM Canvas Drop Cloth. 10-11 oz or equal.	30	\$13.00	\$390.00
54	PPG28723/EA	4' x 15' PM Canvas Drop Cloth. 10-11 oz or equal.	30	\$7.99	\$239.70
53	WBC14410/EA	6 1/2" Jumbo Koter Super Twist Roller Cover. 2 pack. Mfg. Wooster #RR306 or equal.	100	\$3.75	\$375.00
52	WBC34422/EA	14" Jumbo Koter Frame. Mfg. Wooster #RR041 or equal.	100	\$2.50	\$250.00
51	WBC14409/EA	4 1/2" Jumbo Koter Super Twist Roller Cover. 2 pack. Mfg. Wooster #RR306 or equal.	100	\$2.99	\$299.00
50	WAR90189/EA	5 in 1 Glazier Knife. Mfg. Warner #90189 or equal.	50	\$2.40	\$120.00
49	WAR90115/EA	2 1/2" Paint scraper. Mfg. Warner #90189 or equal.	50	\$3.30	\$165.00
48	WBC12012/EA	3/16"- 4" Roller Cover Woven. Mfg. Wooster#HR552-4 or equal.	100	\$1.00	\$100.00
47	PPG59309/EA	3/16"- 9" Roller Cover Woven. Mfg. Wooster #HR552-9 or equal.	100	\$1.50	\$150.00

PAINT TOTAL: \$132,177.	25
 TOOLS TOTAL: \$34,575.4	55
RAND TOTAL: \$166.752.	BO

CONTACT PERSON: Mary Goltz (FIBESS Print)	PHONE: 910-515-0538  FAX: 855-292-6543  FEMANI: Goltz@ppg.com  SIGN HERE 1 2 9116
(Print)	

			SECTION I- PAINT		PER 1 GALI	ON		PER 5 GALLO	N PAIL
Column 1	Column 2	Column 3	Column 4	Column 5	Cotumn 6	Column 7	Cotumn 8	Column 9	Column 10
LINE ITEM	STOCK#	CODE	DESCRPTION	EST. QTY (1 gallon)	UNIT PRICE (1 Gallon)	TOTAL (1 Gallon)	EST. QTY (5 Gallon Pall)	UNIT PRICE (5 Gallon Pail)	TOTAL (5 Gallon Pali)
1	15-1110	G <sub>.</sub>	Interior Latex Flat- Minimum Volume Solids 32%	100	\$7.75	\$775.00	40	\$38.75	\$1,550.00
2	47-510	G	Interior Latex Semi-Glose- Minimum Volume Solids 32%	400	\$7 90	\$3,166.00	40	\$39.50	\$1,580.00
3	12-110	В	Interior Letex Flat-Minimum Volume Solids 35%	600	\$8.99	\$5,394.00	20	\$44.95	\$899.00
4	12-310	В	Interior Latex Eggshell Finish- Minumum Volume Solids 36%	300	\$9.95	\$2,997.00	75	\$49.95	\$3,748.25
5	1433	В	Interior Latex Satin Finish- Minimum Volume Solids 36%	600	\$10.44	36,264.00	120	\$51.00	\$6.120.00
6	12-510	В	Interior Latex Semi-Gloss- Minimum Volume Solids 36%	400	\$11.00	\$4,400.00	120	\$54.00	\$6,480.00
7	6-7U	BST	Interior Latex Fist- Minimum Volume Solids 42%	100	\$9.75	\$975.00	20	\$47.50	\$950.00
. 6	6-411	BST	Interior Latex Satin Finish- Minimum Volume Solids 42%	200	\$10,50	;2,100.00	20	\$50.00	\$1,000.00
9	6-500	BST	Interior Latex Semi-Gloss- Minimum Volume Solids 42%	100	\$10.75	\$1,075.00	20	\$62.50	\$1,050.00
10	6-4110XI	BST	Interior Latex Flat, Low Odor, No VOC- Minimum Volume Solids 41%	100	\$9.75	\$975.00	20	¥45.00	\$90G.00
11	6-4310XI	BST	Interior Latex Eggshell Finish, Low Odor, No VOC- Min. Volume Solids 41%	200	\$10.50	\$2,100 00	20	\$50.00	\$1,000.00
12	6-4500XI	BST	Interior Latex Semi-Gloss, Low Odor, No VOC-Min. Volume Solids 41%	200	\$10.55	\$2,110.00	30	\$50.00	\$1,500.00
13	12-900	G	Interior Latex Primer- Minimum Volume Solids 29%	120	<b>37.00</b>	\$840,00	40	\$35,00	\$1,400.60
14	17-92%	В	Interior/Exterior Latex Stain Block Primer- Minimum Volume Solids 36%	150	\$12.40	\$1,860,00	50	\$60.00	\$3,000.00
15	6-14	В	Int/Ext Alkyd Stein Block Primer- Minimum Volume Solids 57%	100	\$14.00	\$1,400.00	40	\$70.00	\$2,800,00
16	56-110XI	В	Exterior Latex Flat- Minimum Volume Solids 34%	100	\$11.00	\$1,100.00	10	≩55.0∪	\$550.00
17	56-410AI	В	Exterior Latex Satin- Minimum Volume Solids 34%	100	\$11.50	\$1 150.00	10	\$55.00	\$550.00
18	56-510XI	В	Exterior Latex Gloss- Minimum Volume Solids 34%	200	\$12.50	\$2,500.00	30	\$60.00	\$1,800.00
19	6 610XI	BST	Exterior Latex Flat- Minimum Volume Solids 36%	100	311.25	\$1,125,00	30	\$55.00	\$1,650.00
. 20	5-2045XI	BST	Exterior Latex Satin- Minimum Volume Solids 36%	60	\$12.18	\$730.80	10	\$30.00	\$600.00
21	6-900AI	BST	Exterior Latex Gloss- Minimum Volume Solide 35%	125	\$12.35	\$1,568.75	20	361 00	\$1,220.00
22	90-474	BST	Int/Ext Direct to Metal Latex Acrylic Satin/Semi-Gloss-Min. Vol. Solids 38%	75	\$14.00	\$1,056.00	40	\$70.00	\$2,800.00
23	7-814	BŞT	Int/Ext Industrial Oli Base Enginel Gloss- Minimum Volume Solids 43%	450	\$15.50	\$£,975.J0	N/A	N/A	N/A
24	94-258	BST	Industrial Universal Rust Inhibilive Primer- Minimum Volume Solids 53%	250	\$15.00	\$3,750.00	20	\$72.50	\$1,450.00
25	7-814	BST	Interior/Exterior Floor Enamel Gloss Oli Base-Minimum Volume Solids 45%	175	\$16.50	\$2,887 5C	N/A	N/A	N/A
26	AEX00308		Traffic Marking Paint Of Base Quick Dry- Minimum Volume Solids 47%	100	\$12.50	¥1,250.00	20	\$60 Ju	\$1 200.0U
27	AEX00304		Traffic Marking Paint Acrylic Latex Quick Dry- Minimum Volume Solids 50%	110	\$10.35	\$1,138,56	25	\$56,00	\$1,100.00
28	AEX00306		Traffic Marking Paint Latex Quick Dry- Minimum Volume Solids 52%	25	\$12.65	\$316.25	5	\$61,00	\$305.00
29	FLD820/SIK710		Exterior Stain Solid Color Oli	430	\$17.75	\$7 632 50	50	\$17.23	\$861.56
30	FLD802		Exterior Stain Semi-Transparent Oil- Minimum Volume Solids 14%	50	\$12.50	\$625,00	20	411 20	\$0.00

31	FLD820	В	Exterior Stain Solid Color Latex Acrylic- Minimum Volume Solids 33%	250	\$12.50	\$3,125,00	50	ļ	\$0.00
32	FLD447	В	Exterior Clear Oll Base Sealer- Minimum Volume Solids 33%	150	\$13.00	\$1,950,00	20	\$65.00	\$1,300.00
33	DFT21	. в	int/Ext Gloss Varnish Oli Base- Minimum Volume Solids 45%	75	\$22.59	\$1,694.25	N/A	N/A	N/A
34	DFT26	В	Int/Ext Satin Varnish Oll Base- Minimum Volume Solids 44%	65	\$22.59	\$1,468.35	N/A	N/A	N/A.
35	DFT157	В	Interior Water Base Polyurethane Gloss- Minimum Volume Solids 26%	20	\$22.39	\$451 &	N/A	N/A	N/A
36	D-T159	. В	Interior Water Base Polyurethane Satin- Minimum Volume Solids 26%	20	\$22.39	\$451.80	N/A	N/A	N/A
37	861	В	Lacquer Thinner	100	\$9.00	\$900.00	50	¥45.00	\$2,250.00
			Total			\$80,265.50			\$51,911,75

Column 1	Column 2	SECTION II- PAINT TOOLS			
COLLININ	Column z	Corkuran 3	Column 4	Column 5	Column 6
ITEM	STOCK #	DESCRIPTION	EST. QTY	UNIT PRICE	TOTAL
_1	RVN00002/E/L	1" Width Flat Chip Brush. Ideal for one time Jobs. Width 1"/Length 1 1/2"/Thk. 3/8" Mfg. PPR or equal.	25	\$0.22	\$5.50
2	RVN00004/EA	2" Width Flat Chip Brueh. Ideal for one time jobs. Width 2"/Length 1 1/2"/Thk. 3/8" Mfg. PPR or equal.	25	\$0.35	\$8.75
3	RVN00006/EA	3" Width Flat Chip Brush. Ideal for one time Jobs. Width 3"/Length 1 1/2"/Thk. 3/8" Mfg. PPR or equal.	25	\$0.60	\$15.00
4	RVN00010/EA	4" Width Flat Chip Brush. Ideal for one time jobs. Width 4"/Length 2"/Thk. 5/8" Mfg. PPR or equal.	50	\$1.15	\$57 50
_ 5	W8C17300/EA	1" All Purpose Polyester/Varnish Flat Brush. Width 1"/Length 2 1/4"/Thk. 3/8" Mfg. Wooster #3286-1 or equal.	450	\$1.00	\$450.00
. 6	WBC17301/EA	1 1/2" All Purpose Polyester/Vamish Flat Brush. Width 1 1/2"/Length 2 1/4"/Thk. 7/16" Mfg. Wooster #3286-1.5 or equal.	110	\$1.35	\$151.80
7	WBC17302/EA	2" All Purpose Polyester/Vamish Flat Brush, Width 2"/Length 2 1/4"/Thk, 7/16" Mfg. Wooster #3286-2 or equal.	1100	\$1.30	\$1,430.00
8	WBC17303/EA	3" All Purpose PolyestanVamish Flat Brush, Width 3"/Length 2 3/4"/Thk, 1/2" Mfg. Wooster #3286-3 or equal.	600	\$2.15	\$1,290,00
9	W8C17507/EA	4" All Purpose Polyester/Vamish Flat Brush. Width 4"/Length 2 3/4"/Thk. 11/16" Mfg. Wooster #3286-4 or equal.	700	\$2.85	\$1 995.00
10	PPG592811/EA	1 1/2" Nylon/Polyester Angle Sash Brush. Professional quality wooden handle. Width 1 1/2"/Length 2 3/8"/Thk. 1/2" Mfg. Wooster #3251-1.5 or equal.	70	\$4.25	\$297.50
11	₽PG59274/EA	2" Nylon/Polyester Angle Sash Brush. Professional quality wooden handle. Width 2"/Length 2 5/8"/Thk. 9/16" Mfg. Wooster #3251-2 or equal.	375	\$5 00	\$1,875.00
12	PPG59275/EA	2 1/2" Nylon/Polyester Angle Sash Brush. Professional quality wooden handle. Width 2 1/2/Length 2 7/8"/Thk. 5/8" Mfg. Wooster #3251-2.5 or equal.	250	\$6.50	\$1,625.00
13	PPG59276/EA	3" Nyton/Polyester Angle Sash Brush. Professional quality wooden handle. Width 3"/Length 3 1/8"/Thk. 11/16" Mfg. Wooster #3251-3 or equal.	150	\$8,58	\$1,287 00
14	PPG59301/EA	3/8" Nap 9" Width All Purpose Roller Covers. Recommended for smooth surface, drywall, plaster. Mfg Bestt Liebco or equal.	600	\$1.99	\$1,194.00
15	PPG59810/EA	3/8" Nap 9" Width Pro Woven Roller Covers. Shed resistant, lint free fabric for all paint. Mfg Wooster #HR551-4 or equal.	750	\$1.86	\$1,395.00
_16	A3/80E@2D99	3/6" Nap 4" Width Pro Woven Roller Covers. Shed resistant, lint free fabric for all paints. Mfg. Wooster #HR551-4 or equal.	750	\$1.40	\$1.050.00

		1/2" Nap 4" Width Pro Woven Roller Covers. Shed resistant, lint free fabric for all			1
17	WBC6421A/EA	paints. Mfg. Wooster #HR555-4 or equal.	450	\$1.25	\$562.50
18	WBC66269/EA	9" Professional Roller Frame. Heavy duty. Mfg. Wocater #R027 or equal.	300	33.22	<b>3966 00</b>
19	WBC13609/EA	4" Professional Roller Frame, Heavy duty, Mfg. Wooster #HR559 or equal.	250	\$4.73	\$1,182.50
20	WBC66279/EA	9" Premium Roller Frame. Lightweight. Mfg. Wooster #HR559 or equal.	200	\$3 23	\$646,00
21	£1102512/EA	Plastic Roller Tray for 9" Roller Covers. Mfg. Z-PRO or equal.	350	\$1 10	\$385.00
22	WBU84471/EA	Heavy Duty Plastic Roller Tray for 9" Roller Covers with Ladder Hooks, Mig. Wooster #R404 or equal.	300	\$1 &C	\$587.00
23	W8C14828/EA	48" Wood Extension Pole with Metal Threads. Mfg. Bestt Liebco or equal.	50	\$1.50	\$75.00
24	PRIMOG255/EA	9'x12' 2 mil Plastic Drop Cloths. Mfg Z-PRO or equal.	240	\$1.72	\$412.80
25	MMM69476/EA	3/4" x 160' 3M General Purpose Masking Tape, Mfg. 3M-2020 or equal.	220	§1 35	\$297,00
26	MMM71106/EA	1" x 180' 3M General Purpose Masking Tape. Mig. 3M-2020 or equal.	130	\$1.37	\$178.10
27	MMM71108/EA	2° x 180° 3M General Purpose Masking Tape. Mig. 3M-2020 or equal.	280	\$2.69	8753.20
28	MMM03681/EA	1" x 180' 3M Blue Long Painters Masking Tape. Mfg. 3M-2090 or equal.	60	\$3.17	\$190.20
29	MMM03682/EA	1 1/2" x 180' 3M Blue Long Painters Masking Tape. Mfg. 3M-2090 or equal.	75	\$4.40	\$330.00
30	RDIU0544/EA	Onetime Lightweight Spackling Paste. 1 quart size. Mig. Red Devit or equal.	35	\$3.36	\$118.30
31	1413/EA	100% Acrylic Latex Caulk. Paintable, Int/ext use. White only. 10.3 oz. Míg. PPG Brand Top Gun or equal.	150	\$1 20	\$180.00
32	1414/EA	Siliconized Acrylic Caulis, Paintable, Excellent adhesion and durability, int/ext use. Colors, 10.3 ox, Mfg, PPG Brand Top Gun or equal.	200	\$1 13	\$226.00
33	UAPOS646/EA	100% Silicone Ptus Caulk. Int/ext white. Recommended not paintable, 10.1 oz. Mfg.			
-33	UMPUBO46/EA	Dap or equal.  100% Sillcone Plus Caulk. Int/ext clear. Recommended not paintable. 10.1 oz. Mfg.	130	\$3.49	\$453.70
34	1419/EA	Dap or equal,	200	\$3.26	\$660.00
35	5132/07	General Purpose Paint Thinner 100% Mineral Spirits. 1 gallon container.	300	\$6.00	\$1,800.00
36	SS SERIES	Rust inhibitive Fast Dry Spray Paint. All colors. 12oz. Mfg. PPG Pitt Built or equal.	1700	\$2.98	\$4,896.00
37	PREP 400	Graffiti and Over Spray Remover. Removes graffit of aerosol spray paint, ink, felt merker. Will not harm clear coat surface on cars, plexi-glass or polycarbonates. Blodegradable Liquid. Mfg. PPG or equal.	10	\$30,00	¥300 00
38	PREP 240	Automotive & Heavy Industrial Paint Stripper. Removes epoxy, alkyds, zinc primers, urethane & coal tar epoxies from surfaces such as tanks, bridges, railway cars, painted plastic (car bumpers), etc. Biodegradable Liquid. Mig. PPG or equal.	10	\$25.00	\$250.00
39	PREP 220	Inclustrial Paint Stripper. Water based, fully blodegradable, non-flammable, Clean up with water. Will not burn skin. Removes apoxy, urethanes, latex, oil based paint from steel, aluminum, concrete, masonry. Mitg. PPG or equal.	10	\$25.00	\$250.00
40	PREP 901	Waste Pint Hardener. Powder form. Quickly hardens latex paint for legal disposal. Environmentally safe. Hardens 2/3 of a gaflon per bag. Mfg. BioWash or equal.	100	\$1,40	\$140.00
41	861/01	Lacquer Thinner	100	\$9.00	\$900 00
42	RUS11268/EA	Inverted Highway Yellow. All traffic colors.	50	\$4.01	\$200.50
43	Wilc60739/EA	3/8" General Purpose Roller Covers, Mig. Bestt Liebco or equal.	250	\$1.25	\$312.50
44	WBC61289/EA	1/2" General Purpose Roller Covers, Mfg. Bestt Liebco or equal.	250	\$1.65	\$412.50
45	WB(61299/EA	3/4" General Purpose Roller Covers. Mfg. Bestt Liebco or equal.	250	\$1.65	\$412.50
46	PPROJZ10/EA	5 Gallon Bucket Grids, Mig. Bestt Liebco or equal.	100	\$1 25	\$125.00

Page 3 of # 4

Total					\$34,575,5
57	WBC12091/E4	3/4"- 4" Roller Cover Woven. Mfg. Wooster#HR556-4 or equal.	50	\$1.75	\$62.50
56	PPG59312/EA	3/4"- 9" Roller Cover Woven. Mfg. Wooster#HR556-9 or equal.	50	\$2,50	\$125.00
55	PPG28722/EA	9' x 12' PM Canvas Drop Cloth. 10-11 oz or equal.	30	\$13.00	\$390.00
54	PPG28723/EA	4' x 15' PM Canvas Drop Cloth. 10-11 oz or equal.	30	\$7 99	\$239 /0
53	-WBC14410/EA	6 1/2" Jumbo Koter Super Twist Roller Cover. 2 pack. Mifg. Wooster #RR306 or equal.	100	\$3.75	\$375.00
52	WBC:14422/EA	14" Jumbo Koter Frame. Mfg. Wooster #RR041 or equal.	100	\$2.5U	\$250.00
51	WBC1#409/EA	4 1/2" Jumbo Koter Super Twist Roller Cover. 2 pack. Mfg. Wooster #RR306 or equal.	100	\$2.99	\$299.00
50	WAR90189/EA	5 in 1 Glazier Knife. Mfg. Warner #90189 or equal.	50	\$2.40	\$120.00
49	WAR90115/EA	2 1/2" Paint scraper. Mfg. Warner #90189 or equal.	50	\$3.30	\$165.00
48	WBC12012/EA	3/16"- 4" Roller Cover Woven, Mig. Wooster #HR552-4 or equal.	100	\$1.00	\$100.00
47	PPGS9309/EA	3/16"- 9" Roller Cover Woven. Mfg. Wooster #HR552-9 or equal.	100	\$1 50	\$150.00

PAINT TOTAL:	\$152,177.2E
TOOLS TOTAL:	\$34,875 55
GRAND TOTAL:	\$168,752 80

VENDOR NAME: PPG Architectural Finishes, Inc.  PHONE: 910-515-0538  CONTACT PERSON: Mary Goltz  FAX: 855-292-6543  FAM: Goltz@ppg.com  AUTHORIZED REPRESENTATIVE: SIGN HERE: 1 2 9116  AUTHORIZED REPRESENTATIVE: Thomas E. Maziarz  (Print)
--

Page 4 of 5 4